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. 'tw'vo statements, one is
) and the other as

1. Given below are
labelled as Assertion (A
Reason (R).
Assertion (A) : The i

sert:. )

is desert and semi-de .
Reason (R) : Northern Australia is situated
i

in the temperate zone. &
from the code E

nterior part of Australia

Select the correct answer
given below :

Code : _ - .
" (a) Both (A) and (R) are true, but (R) is

not the correct explanation of (A)

(b) (A) is false, but (R) is true

(c) (A) is true, but (R) is falses

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

]

2. Given below are two statements, one is labelled
as Assertion (A) and the other as Reason (R).
Assertion (A) : India is the second largest
mobile gaming market in the world.

Reason (R) : There are more than 950 million
internet users in India.
Select the correct answer-from the code

given below :

Code : b

(a) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(b) (A) is false, but (R) is true

(c) (A)is true, but (R) is false-

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

EIE
e

3. Given belgw are two stateménis, one is labelled
as Assertion (A) and the other as Reason (R).

Assertion (A) : Babur wrote Tuzk-e-Babri in

21
Ofe:;

CIZU-1-23

1. A e Ry E, o @ v A s (a)
, e
AT gHL 1 T (R) Fel 71 R | ?
fR2A (A) : i w1 e am ©
AT TG -TEel T 2 | e
T (R) : It A feran ansfiaron wfeay &9 1
s g &
= fow T e & @ I gh

%.

(a) (A) 3R (R) 21 @t €, freg (R), (A) Y =
ST TE BT B

(b) (A) TeTa @, R (R) @@t @

(c) (A) @& 8, fpg (R) 7Toid &

(d) (A) 3R (R) T Tt & 3R (R), (A) FF @@
T HT @

2. 9 @ Fem fou e €, forrd e =t Afre (4)
qUT A B FROT (R) gl T2 |

aifrRer (A) : WTTd fored T gET HE g AT
AffT AR R |

WO (R) : WA & 950 fifer & er getie
¥ IqANTRAT 2 |
ﬁmmﬁaaﬁwgﬁq:

E

(@) (A) 3 (R) 3 7@ &, Fg (R), (A) A1 TR
SIRET &I Bl @

(b) (A) e 2, T (R) W1 @

() (A) & &, R (R) o &

d) (A) 3K (R) 3 T E S (R), (&) 1 FE
ST T @

9 @ et fog e &, o wh bl SRR (A)

aen?@iﬁwm)mw% |
W(A}:Wﬁwﬁ@zﬁﬁ@%—q-mﬁ

Chagatai Turki. .
ety T E-{ 1%‘1'@1 |

Reason (R) : Turki . e o
of the Mlggl)'lal C;urt‘f,as S GhcE] laipuses Elia FOT (R) : T A G Sl TSI oft |
521125\: :the correct answer from the code given Zjﬁﬂ pIL 3 g I AT :
Code : [ ) s

) . R), (A) I T&
(@) Both (4) and (R) are trué, but (R) is (a) (A) 3N :r(g) gl ;ﬁ 2, g (R), (A)

not the correct explanation of (A)

(b) (A)is false, but (R) is true

(c) (A)is true, but (R) is false

(d) Both (A) and (R) are trie and (R) is the
correct explanation of (A)

Dl T R— P
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(b) (A)nﬁa%,%(R)@%

© (A)H’eﬁ%,ﬁﬂ(R)ﬂ?ﬁ%

(d) (A)aﬁ((R)a"ﬁH’é‘T%ﬁ(R),
_amsmm%

e s e -
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4, Match L1st -1 w1th LlSt -1I and choose
the correct answer by using the code i
given below the lists. N\ :
B List - I List - II
ETS? (Coal Field) (Country)
A. Appalachian 1. England
B. Lancashire 2. Gei‘fnany
C. Ruhr 3. Russia
D. Kuzbass 4. United States of |
America :
Code : o :
A B C D e i
@4 1 2 3 = ‘
M1 4 3 2
1 4 2 3 L
@4 1 3 2

5. With reference to ‘Ecosystem’, which of the
following statements is/are correct ?

1. Green plants in terrestrial ecosystem
capture about 1% of energy of the
sunlight that falls on ‘the__ir leaves.

2. Around 10% of organio.ji:natter reaches
to the next higher level of consumers.

Select the correct answer ffom the code
given below :

Code :
'(a) Only 2
(c) Both 1 and 2

(b) Neither 1 nor 2
(d) ofii'y 1
6. Which of the following events took place in the
year 1911 ? -
1. Partition of Bengal revoked
2. Transfer of capital from Calcutta to Delhi
EI [ 3. Lucknow pact between Congress and
E Muslim League
Select the correct answer from the code
given below : e
Code : i
(a) 1and 2 |
(b) Only 3
(c) 2and 3
.(d) Only 1

e
- O
e

CIZU-1-23
4. @—Iﬁzﬁﬂ—nﬁgﬁ%ﬁzﬁﬁmaﬁz@mﬁs
AR o e 2 1 e w w R
Tl - 1 T - 11
(Hrre ) (Z0)
A, JueifEa 1. 3l
B. WHERR 2. s
C. ® 3. ¥4
D. FEmH 4. HEH TT I
e
A B C D
@4 1 .2 3
)1 4 3 2
©1 4 2 3
@4 1 3 2

5. ‘witfeufaeht d’ % wof §, fefrfaa § 9
ST/ w2/ 7
1. & 19, wrefe iRl o3 3§ s ghs)
w_i_l R g et T A9 B e 19 st
oG T |
2. T 10% HIEfe gl Iqeiiamafl
3ITY IS TR doh Y R |
T fow e gz & v v g
E T
(a) hae 2
(c) 1 3R 2 dFi

(b) 7@ 17& 2
(d) ¥ 1

6. Tiifeian 3 & F-wh weni ad 1011 Hufen g 7
1. =TS T oM ® %
2. TS 1 FHerehan ¥ Rt whady
3. HIH AU Y™ o % de v wei
A9 fow e e § S g
e :
(a) 132
(b) et 3
(c) 23R 3
(d) Fae 1
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7. Consider the followin

3
=5

ahE

10.

e T

———— el
e

g events and arrange
logical order.

-

them in correct chrono
1. Poona Pact '
2. End of Civil Disobedie

3. Gandhi-Irwin Pact - 8
4. Second Round Table anference

Select the correct answer from the code

nce Movement

given below :

Code :

(@) 3,4,2,1 (b) 4,3,1,2
(€ 4,3,2,1 dd) 3,4, 1,2

As per the India State of Forest Report 2023, |

which of the following districts in Uttar
Pradesh had forest over more than 20% of

their total area ? PN
1. Bahraich ey
2. Chandauli =

3. Shravasti A
Select the correct answer from the code

given below :

Code :

(a) 1and2 a(b) Only,3
(c) 2 and 3 (d) Only,1

Which of the following pairs is/are correctly
matched ? L

(Coal Producing {(State)
Area)
1. Maolong - Arunachal Pradesh
2. Raniganj — West Bengal
3. Ramgarh - Jharkhand
4. Talcher - Odisha
Select the correct answer from the code
given below : S
Code :

() Only1and2 (b) Only 2, 3 and 4
(c) Only 1,2 and 3 (d) Only 1

With reference to ‘Delhi Government’s
Bio-decomposer and Spray Programme’,
which of the following statements is/are
correct ? :

1. The Bio-decomposer solution is
provided free of cost to farmers to help
convert stubble into manure. .

2. The Bio-decomposer solution is
prepared using a mix of several fungi. |

Select the correct answer using the code
given below :
Code :

Only 2 (b) Neither 1 nor 2

¢
¢) Both 1 and 20 (d) Only 1°

8.

10.

CIZU-1 - 9

7 o s o e o v

HICTHATIER 1 8§ srafem Hif |
1. G gt
EiE 2 T 3T Ser 6w
W%E 3. Tith-3f gz
B 4. et river ot e
A fow T Fe & W s gh
Fe:
(a) 3,4,2,1 (b) 4,3, 1,2
(c) 4,3,2, 1 (d) 3,4,1,2
w34 feufa fale 2023 % FaR, IW Rw
frafifaa § @ e frelt § 37 Fo &
20% 8§ A WA B 7
1. EUEd
2, SR
3. smasit
i fog U e & wE IW ghT
He
(a) 1372 (b) &ad 3
(c) 23M 3 (d) a1
frfifga it # @ wi-w1/@ T gAfera
3/ ?
(PITET IS &) (=)
1. HEd - e WeH
2. TS - ufyem S .
3. TG - s [EEE
4. AR - e E%@
2 fow e Fe @ Wt IW I
He:
@ ¥ 132 (b) hew 2, 334
(c) ¥t 1,233 (d) 9 1
Foeeht T TR T B I F

st 3 i § @ H-a/A FA w@ e

L e = we § e & meg 3 e B
- e T T i e |

0. AL Sl o R 1 I FE
TR foRm ST B )

2 for U Fe @ T sw T

T

(@) had 2 (b) AAM1TE 2

(c) 13T 23Hl (d) el 1 .

—
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CIZU-1-23

W1th reference to creation of new All India
Service, which of the following statements
is/are correct ?

1. In the national interest, the Ra_]ya
Sabha can pass a resolution for
creation of new All India Service.

. The resolution for creation of new All
India Service must be passed by the

Eligi‘lil

o Rajya Sabha by two-third majority of
ER‘% the total members of the house.
Select the correct answer from the code
given below : i
Code : A i
(a) Only 2e (b) Neither 1"nor 2
(c) Bothland2 (d) Only1 ..

12. Match List — I with List — I and ‘select the |
correct answer using the code g;ven below the
lists.

List -1 List-1I
(Disciple) (Guru)
A. Kabir 1. Guru Nanak Dev
B. Amir 2. Swami Ramananda
Khusrau at
C. Surdas 3. Nizamuddin Auliya
D. Mardana 4. Vallabhacharya
Code : )
A B C D
(a) 3 2 4 1
(b) 3 2 1 4
(c) 2 3 4 1
(d) 2 3 1 4.
13. Given below are two statements, one is

labelled as Assertion (A) and the other as

Wéaqﬁéraw‘cﬁaémaqﬁ%mﬁfrﬁu%f‘@aﬁﬁ
H-a1/Y Hud wE 2/8 7

1. T faa §, usa wn 1% afle Wi ga
T W1 TE1d qIRd T Gkl B |

2. 7% AR W™ Fa1 9 H T
TS gl i oot T W % Q- figTs
TgAd A TG ST S B |

e feg T % @ T IW T :

F:

(a) oo 2 (b) A 1T 2

(c) 1 3R 2gHt (d) Saa 1

gt - 10 gt - 11§ gafea i aen gfew &
9 fow T e w1 T = TE W AT |

T o

(forea) (T%) O
A. FEK 1. 7% T
B. 3R gl
C. TEH
D. TgHI
Fe:

A
(a) 3
(b) 3
(c) 2
@ 2

2 S wem g €, ﬁﬁé@ﬁmm}

11.

12.

wWww NN W
= A~ H» Q0O
N N L ~ |

13.

()

Reason (R).
Assertion (A) : Investment in human capital
yields returns in the future.

Reason (R) : Education and health make
people more productive.

Select the correct answer from the code
given below : :
Code :

(a) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(A) is false, but (R) is true

(A) is true, but (R) is false

Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b)
(c)
(d)

amqs&sﬁmm)argrw%

At (A) : T Tl 7 e § wivsy 3§ @
E (2] fireran 2 |
R e T & S U

IAEH S ¢ | '

2 few e ge @ W I YR ;

%e:

(a) (A) 3R (R) a1 w3, fhg (R), (A) F1 =&
ST TE HT B

(b) (A) e 2, fFg (R) W R

(c) (A)¥& 2, Fhg (R) ot R

(d) (A) 3R (R) 3 T € 3T (R), (A) B A

&1 HTT B
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14. Match LlSt I w1th L1st - II and choose the ;
correct answer using the code g1ven below !

the lists. .J 5
List - I List - IT, :
(Refinery) (State)“di’;.' :
A. Nayara 1. Assam ,'
B. Manali 2. Gujarat ,’
C. Numaligarh 3. Andhre ?radesh ‘;'
D. Tatipaka 4. Tamil Nadu |
Code : ;" f
A B C D e i
(@):4 v 2 .37l ‘
b2 4 1 3
(c) 2 4 3 1
(@ 475 727F 10 13

15. Which of the following is/are NOT a
dimension of food security ? s

agg -

’:t?‘ : 2. Accessibility

BIE 5. Affordability

4. Accountability,
Select the correct answer from the code

oamh

given below : !

‘ 3

Code : . -y
(@ 1and 2 (b) Only 4-
(c) 2,3 and 4 (d) Only 1

With reference to ‘Silver articles’, which of

the following statements is/are correct ?
1. Silver articles turn black after some

16.

time when exposed to air.

2. It happens due to coating of silver
sulphide. ‘; !

Select the correct answer from the code

given below : :

Code :

(a) Only 2

(c) Both 1 and 2

(b) Neithef 1 nor 2
(d) Only 1+

CIZU-1-23

14. @—Izﬁq\%ﬁ—llﬁgﬂ%ﬁzﬁﬁqaﬁw

% 19 fow 0 e 1 T A E I g |
-1 - 11
(afiertor vrren) (Tr==)
A. TII0 EEE 1. HA9R
B. Tl 2. T
C. JHTeTg 3. Y W
D. arftaret 4. diterTg
Fe:
A B C D
(a) 457 22 Bliarl
b2 4 1 3
@2 4 3 1
(d) 4200213
15. frefafad § & SiH-a1/8 T GIa 1 S
T 3/e 7
1. ISt
2. d
3. gmed
4, SETEE
# few o g2 A T IR AT :
FT:
(a) 1372 (b) haet 4
(c) 2,334 (d) ¥ 1

L6 i e ¥ wed 6, Frferfea 7 @
F7-a1/8 FU O 8/8 7
EIAE o e firee wewiss 61 e & FROT G2 |
1 Ry o e & T I IR
Fe:
(@) had 2
(¢) 1 3R 28

(b) A 1T 2
(d)%aa1

D TP S — ——
R F i —— e =

16



User
Highlight

User
Highlight

User
Highlight


- T — " T—— T . T T—— —.. - S ;. T~ ;. —" . —_ .. "’ 51: - . =y

17. Match List — I with List — II and select the !
correct answer using the code given below |

the lists : |
List - I List - II *
(Mission) (Date of Launch) :
A. Chandrayaan-3 1. 02 September |
2023 !
B. Aditya L1 2. 17 February |
2024 !
C. INSAT - 3DS 3. 14 July 2023 |
D. RLV-LEX-01 4. 02 April 2023 |
Code : ") |
A B C D :
(@) 1 3 4 2 |
(B)i3~- 1772 174 '
©3 1 4 2 '
(d) 1 3 2 4
18. Match List — I with List — Il and choose the
correct answer using the code given below
the lists.
List -1 List - II
,:_,-‘i.,.. (State) (Number. of seats
{.@ in Rajya Sabha)
A. Maharashtra 1. 16
B. Karnataka 2. 18’
C. Bihar 3. 19
D. Tamil Nadu 4. 12
Code :
A B C D
@2 1 3 4
b2 4 3 1
1 2 4 3
3 4 1 2
19. Given below are two statements, one is

R P

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Poverty line d1ffers across

time and countries.

Reason (R) : The basic needs of people vary

across regions and overtime.

Select the correct answer from the code

given below :

Code :

(a) Both (A) and (R) are true, but (R) iy
not the correct explanation of (A) ®

(b) (A) is false, but (R) is true

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are true and (R) is the

correct explanation of (A)

17. @—Iﬁ@—ll@gﬁ%ﬂiﬁﬁmmwiﬁ

18.

19,

171

CIZU-1- 23

H feu ¢ e w1 M B FE IW A
gt -1 T - 11
(forgm) (werqu feafer)

A. I5IH -3 1. 02 faam=r 2023

B. afeea L1 2. 17 ®&Ed 2024

C. INSAT-3DS 3. 14 95 2023

D. RLV-LEX-01 4. 02 374a 2023

e :

A B C D

(@) 1 '3, {r4=1:2

b3 1 2 4

(c) 3 1 4 159

@1 3 2 4

Tt - 1R g - 11 @ gafea $if R gl

% i for T g2 @ @@ I gh |
T -1 it - 11
(=) (T o it <t wen)

A. HETWTS 1. 16 _

B. HAich 2. 18 E’i@

C. far 3. 19 olee:

D. afterTg 4, 12

e
A B C D

@2 1 3 4

b)2 4 3 1

€1 2 4 3

@3 4 1 2

F= 3w feg e €, S 8 uw A s (a)

T A T BT (R) Tl 70 R |

arfiverem (A) : Frefan T ww s e &

ey = gt 2 |

HWUT(R) : A Al G STETTHA &1 3K

R % TgER i el R 1

ﬁﬁ?ﬂq%ﬁaﬁwgﬁq:

T

() (A) 3 (R) 3 A &, fFg (R), (A) 1 W&
ATET el Hdl &

(b) (A) e B, g (R) ®& 2

(c) (A) && &, Fhg (R) i @

(d) (A) 3R (R) Ml wdl € 3t (R), (A) F @@
STET T =
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20. With reference to Sahitya Akademi Yuva
Puraskar announced in June 2025, which
of the following statements is/are correct ?

1. Yuva Puraskar was announced in
23 Indian languages.
2. There is no Yuva Puraskar in Dogri
this year.
Select the correct answer from the code
given below :
Code :
(@) Only 2
(c) Both 1 and 2

(b) Neither 1 nor 2
(d) Only 1

21. Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R). :
Assertion (A) : In the Himalayan mountains

CIZU-1- 23

| 20, S 2025 3 Hifa AT SR 7A g % w0
Y, f=fafaa 3 @ HR-T1/8 wF Té 2/2 1
1. A1 QURRR 23 WRd Wi | difra
EIEE
| EVSE 2. 7@ ad ShT H hiE g R A 2

Fe:
(a) el 2 (b) Tt 172
(c) 13 23H (d) a1

51 3 e e & R wh A (A) T
@iﬁm(mmw%l
aifirem (A) : farmer e 3 fafi= R A1

v different types of vegetation are found. : e Txﬂ?ﬁi 'V 3% &
x==t7 Reason (R):In Himalayas, there are variations | W(?) : femrera ° ST % AIA ST
E{5¥ in climate with change in altitude. ' firamd 2 |

Select the correct answer from the code = few 7T He T g8 I gAY -
given below : F<:
Code : .
' . A) 3 (R) G @ €, B (R), (A) F1 5
(a) Both (A) and (R) are true, but (R) is (a) (A) q%’f) 50
not the correct explanation of (A) HETIFI?I” 3 Bl AR
(b) (A) is false, but (R) is true = (b) (A) , 754 (R)
i R) is fal () (&) T 2, fFg (R) Tom &
(c) (A) is true, but (R) is false . i ‘qzrq}ra‘g?laﬁ“{R R
(d) Both (A) and (R) are true and (R) is the (d) (A) IR (R) B 3 (R), (A)
correct explanation of (A) ¢ C:0 T T & _ . .
09, With reference to ‘Carrying Capacity of 22. ‘TRl HI T8 aawim ¥ g § fraffaa 7 9
Environment’, which of thg following FH-41/8 HYT TE 28 7
statements is/are correct - _ . . e G«
1. The rate of resource extraction should 1. ware frefe i <, T
remain above the rate of resource arferes et T | 5
generation. g o RIS T ITEH, ATl hi JTEITOT
2. Generationofwaste should remain within &7 3 S T R |
the absorption capacity of environment. 3w :
Select the correct answer from.the code +r feg T %e IW G
given below : - F<:
Code : 9
(a) Only 2¢ (b) Neither Lnor2 ! (8) FEE2) (b) f”ﬁ 17
(c) Both1and2 (d) Only 1 - () 13 2THI (d) T 1 |
53 Which of the following pairs is/are NOT 03, Feferaa i & ST/ m wd ghf @ 8/2 7
correctly matched ? (STl (aTraTE £)
(Tribe) (Habitat) 1 gﬂﬁq - SRR TR
1. Bushman - Kalahari Desert EE 2' T R
2. Eskimo - Northern Canada r _;'q;:: ' =
3. Pygmy ~  Congo Basin miwE 3. fdl - e
4. Masai -  West Africa * 4, WET - ufvam T
Sglect the correct answer from ‘the code H= few T % ¥ g& I gﬁm H
%wsn below : e
ode :
(2) Only 1,2 and 3 (b) Only 4 (a) e 1,23 3 (B) 4
() Only3and ¢ {d) Only1l © ¥ae3aiR4 (@F@L
181 Tttt
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24. Which of the following pairs of Part of
Indian Constitution and its subject
is/are NOT correctly matched ?

1. PartIVA - Fundamental Duties
2. Part VI — The States:
3. Part X1 -

The Municipalities

Select the correct answer from the code
given below :

Code :
(@ 1and2 (b) Only 3,
(c) 2and 3 (d) Only 1

25. Consider the following revolts and arrange

them in correct chronologmal order
1. Pabna

2. Indigo
3. Kuka

4. Sanyasi —
Select the correct answer from the code
given below :

Code :
(@) 4,3,2,1 (b) 3,4,1,2
(© 3,4,2,1 d 4,2,3,1

26. Consider the following wars and arrange
them in correct chronological order.

1. First Anglo-Mysore War ~ 7

2. Second Anglo-French War

3. First Anglo-Sikh War

4. First Anglo-Afghan War
Select the correct answer from the code
given below : ~

Code : Bpes
(@ 2,1,4,3 (b) 1, 2-,43;, 4
() 1,2,4,3 d 2,1,3,4

27. The Gobi Desert is spread across which of

the following countries ?

1. Mongolia

2. China

3. Russia

4. Kazakhstan

Select the correct answer from the code
given below :
Code :

(a) Only 1 and 2 &) Only 1,2 and 4
(c) Only 1, 2 and 3 (d) Only 1

A0

i

CIZU-1 - 23

24, YR GqaH & 97 3R I35+ fawg =
ﬁmﬁa%a%% 7§ ®H-T1/8 39 a9 gaferm @
/g ?
1. WmMIVA
2. W VI Tsq
3. M XI FRYTITY
H= e e e & W I gh -

e
(@) 13W 2 (b) FaeT 3
(c) 23R 3 (d) Faa 1
25. fr=fafea fagig w frmm Hifs qen 52 @&
FIHHAIIIR 0 § Safed iR |
1. ‘F:Fﬂ

Hifersh i

e
4.H=emﬁ
F=r T T %e @ wd s g
Fe :
@ 4,3,2,1
¢ 3,4,2,1

(b) 3,4,1,2
d 4,2,3,1

Frefafed g€ w fem it aon 32 wd@
HIEHRATIHR 31 § SEfedd $HiT |

1. W UeAl-IRy 35 _

2. fedta Ter-widiet 3g E_,'E
3. wmUe-Rmgg WS

4. TUH TA-3THTH IG

i fou e e @ wE I gf

T

(@ 2,1,4,3
() 1,2,4,3

26.

®) 1,2,3,4
d 2,1,3,4

el e Rl i a S-A e A e 2 7
1. wferan

2. ¥

3. ¥

4, AT

R fow T e 9w IW g

N

(@ a1 132 (b) Faw 1, 2 3N 4
(c) ¥d 1,23 3 (d) Haat 1

27.

[
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28. Which of the following two are the major

29.

)

30.

[E(E] 2.
3&.
[E

constituent of Bio-gas ?
1. Methane

2. Butane

3. Carbon dioxide

4, Carbon monoxide

Select the correct answer from the'code
given below :

Code :

(@ 1and 3

(b) 3 and 4

(c) 2and 3 [

(d) 1and 24 b

‘Adi Karmyogi Beta Version — A Responsive
Governance Initiative’ was launched by which
of the following ministry in June 2025 ?

1. Ministry of AYUSH
Ministry of Women and Child
Development :
Ministry of Social Justice and b
Empowerment futs

4. Ministry of Tribal Affairs
Select the correct answer from the code

bt

3.

given below :
Code :

(@) Only 1 and 2
(b) Only 4 -

(c) Only 2 and 3
(d) Only 1

Arrange the following conquests of Alauddin
Khalji in correct chronological ‘order and
select the correct answer from-the code
given below. o
1. Ranthambore
2. Jaisalmer

3. Warangal

4. Chittor

Code :
(@ 1,23, 40
(b) 2,1,4,3
() 2,1,3,4

d 1,2,4,3

. e B . - e PR gt . e e

CIZU-1 - 3

B e
————

g 28. frafafea § d a9 ), m%mmg?

H
]
i
|
|

29.

30.

SR 2 o

1. fadm

2. A EE
3. FH A Wi
4, T AT

2 fow ¢ g2 @ v I P
%c .

(a) 133

(b) 3 3R 4

(c) 233

(d) 13R2

37 2025 # ‘3 A sfter e - T Snterh
A g’ 1 YHRY FefaRed § | fha wemem
g fepam T 0

1. Y HACE

2. Hfgen U6 a1 forehE HATCHE

3. g = 31t ARrHar T

4. ST HEd T

e g e e @ T IW AT :

He:

(a) haeT 1 3R 2

(b) I 4

(c) et 2 3T 3

(d) Fe 1

FTSE Raesht & Refafea fawai <1 @&
HTETHATEN 0 3 Safe HIR @ i few T
F2 B G I H AT |

1. TR

3. AT

4, fdis
%!

(@ 1,2,3,4
(b) 2,1,4,3
(€ 2,1,3,4
d 1,2,4,3

[
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31.

32.

33.

34.

=

=

R

With reference to hydroelectnmty in North !

India, which of the following statements

is/are correct ?

1. There are huge possibilities of
hydroelectricity in the l-hmalayan

region.

. Eastern Uttar Pradesh and/Bihar
cannot utilise this potential because
the Himalayas situated to the1r North
lies in boundary of Nepal.

|
|
|
}
|
|
|
|
|
Select the correct answer from the code |
given below : :
i

1

|

{

|

|

|

|

|

|

Code :
(a) Only 2 b) Neither 1 nor 2
(c) Both 1 and 2 d) Only 1

Which of the following districts. is/are

part of the Devipatan Dmsmn in,
Uttar Pradesh ?

1. Basti

2. Bahraich
3. Balrampur
Select the correct answer from the code
given below :
Code :

(a) Only 1 and 2

(b) Only 3
(c) Only 2 and 3.

(d) Only 1. .

Consider the formation of the.following
States of India and arrange them'in correct
chronological order startmg from the
earliest to the last.

1. Punjab

2. Arunachal Pradesh

3. Nagaland

4. Sikkim
Select the correct answer from the code
given below :

Code : i
(a) 3,2,4, 1 (®) 3,4, 1, ‘2'
(© 3,1,4,2 @ 2,3,4,1

i
i
|
i
|
|
|

With reference to ‘Uttar Pradesh’, which of
the following statements is/are correct ?
1. Uttar Pradesh is the leading producer
of potato in the country.
2. Government of India has approved for
establishment of South Asia Regional
Centre of International Potato Centre
at Aligarh. |
Select the correct answer from the code
given below :
Code :
(a) Only 2

(b) Neither'l nor 2
(c) Both 1 and 2

(d) Only 1

CIZU-1-23

s | o b o gt 1

31, I WA § 7 Fre % wed #, Frefertaa § &

32.

HH-T1/A FoF T 2/8 7

1. Temrer & 1 w1 foreg <1 Rrerrer vrermd ¥ |

2. il Im v 3 foram g e o g
TEl T TR HAifh 3 It e femrery
et <Y e e R |

e few e e @ wE I g

gmz (b), Fal 17 & 2

(c) 13 2gH (d) e 1

frferfga # @ S-w/8 et o wew |

et e Hieet W fewm 2/8 7

[=]#% =]
e o
1. s=ht E]?%
2. SEUs
3. JOUEE
2 R 7 e & T I TR
He:
(a) Faet 1 3R 2 (b) T 3
(© FaTT 23R 3  (d) Foc 1
33. WRa & Fr=fefad T=wl % 7e W REm Fif
AT 2 aH UE § TR AT I F T
mmﬁm@aﬁml
1. doE
EI‘E
2, Wm
Eﬂ‘ﬁ
4.%%511
i fow T e & Tl sw gh
2
(@ 3,2, 4,1 b) 3,4, 1,2
© 3,1,4,2 d 2,3,4,1
34. ‘IW U & wed # Fr=feifaa § & sw-w/a
FUT T B/R 7
1. IO WA, ;M H AT HT 300N Iee B |
2. WA §THR 3 Felme § ST aimeg d
%ﬁmmm%ﬁwﬁm
R
E T
(a) aw 2

(b) AWM 17& 2

o (c) 13 22[i (d) e 1
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36.

© 3. Arrange the following States of India in the ;
ascending order on the basis of their area |

and select the correct answer from the code
given below.

1. Haryana -
Himachal Pradesh ‘

Given below are two statefriéhts, one is
labelled as Assertion (A) and the other as

Reason (R).
Assertion (A) : Generally an alloy of lead and

E"E! tin is used as a material of the fuse wire.
O] .,% Reason (R) : Alloy of lead and tin has

37.

a higher melting point than copper and

aluminium. Fs, 3

Select the correct answer from the code

given below : o0

Code :

(a) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(b) (A) is false, but (R} is true

(c) (A) is true, but (R) is falses

(d) Both (A) and (R) are trueand (R) is the
correct explanation of (A)

Match List - I with List — Il and select the
correct answer from the code given below
the lists. i
List - I
(State)
Tamil Nadu
Rajasthan
Nagaland
Madhya
Pradesh
Code :
A
(a) 2
(b) 3
(c) 3
(d 2

List - II
(Highest Peak)
Dhupgarh
Dpdﬁiabetta
Guru Shikhar
Saramati

Pa, ™

Sow»

B
3
2
2

-&l—t.bb—o
'—‘-bb—n.p.u

3

I B o N o A B N

i
i
s
|
|
i

36.

37.

112}
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T ARE T 1 SHafed fife gar = fow m
%2 ¥ 98 I g |

1. gfmom

2. Teareer w&w

3. ga™

2 3 s fro o &, R B T 1 ARRYA (A)
qT GE ) BT (R) FET TR |

sifrere (A) : ATG: da a7

fhier T BT WA WSt A % wgref < &9 # feba
AT R

FRUT (R) : He1 g e & fag wig &1 e
ICEC] ¥ TR @ Ffek g 2|

w2

(a) (A) 3 (R) 2N 7@ €, T (R), (A) B &
ST Tl LAl

(b) (A) T R, foheg (R) T8 B

() (A) T &, fhg (R) T B

(d) (A) 3 (R) 2 @& ¥ 3R (R), (A) B HA
STEAT Ll &

@-Iﬁzgﬁ—llﬁ@%ﬂmmgﬁﬁ

F 2 e e He | T IW G |
g -1 . gl - 11
(T=7) (T8 S=h =)
A. afeTg 1. qug
B. TSRAH 2. SIEE Ei@
C. mTmets 3. e B
D. A& WeH 4. grmfa
e
A B C D
@2 3 1 4
b3 2 4 1
€3 2 1 4
d2 3 4 1

e e A . O B B - T -
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38. Operatxon Brahma was launched by India ' 38. e 2025 o wiKa A g swen Frefafaa § 2

in March 2025 to provide humanitarian aid e <@ & amdE ggEa Yo B % fau gE
to which of the following countries ?

(c) Only 1and 3  (d) _iny 1 (c) o 133  (d) e 1

i
i
1. Bangladesh E e e 7 it
. Banglades .
i aﬂa‘ﬁm
2. Myanmar 0 ! b | %-ff
. | 2. TR
3. Sri Lanka -} i .
4. Malaysia 1 3. e
Select the correct answer from the code : 4. A
given below : \ He feu U %e & wd I ghu
Code : . _ i He:
(a) Only 24 (b) Only 2 and 4 i () Faw 2 (b) Faa 2 aftt 4
i
|
{
|
i
|

39. With reference to Municipalities, which of 39. Frafert % wed o Frefeiaa # & wR-w1/3 w0

the following statements is/are correct ? TR 2/d ?

1. The eligible age to be a member of 1. TRATAH He&d 3 & fore srdar g
municipality is 25 years.® 05T % |

. 2. One-third of the total ber of TR 1 Rl
Eﬁ-@ to be ﬁllfedoby d?rec::t ‘elgzﬁrzne;notlf: o = . st ‘éﬁﬁﬁ 5 @ Hﬁﬁ;’lﬁaﬁ%%
ijr;ﬁ municipalities is reséﬁred for women. —— ?@- i

Select the correct answer from the code AR

given below : '—ﬁ%ﬁ{qm@ﬁ%‘lw 5“{:

Code : T Fes :

(a) Both 1and2  (b) Neither 1 nor 2 () 13 28H (o) AWM 17E 2

(c) Only 2 » (d) Only 1 (c) et 2 d) % 1

40. Match List - I with List — I and select the 40. o - 101 = - 1@ gRfea i awn gfe &
correct answer using the’ code given below ey 1 TG I AT |
the lists. ; fm *® =
List - I List—II ‘ ""(E] T -1 T - 11
(Governor (Important :ﬁ.:r. (TR (WUl AneH /@)
General/Viceroy) contribution/work) | E]f‘-‘.é AEEH)

A. Lord 1. Permanent .

Dalhousie settlement of Bengal A. TS SerKl 1. STt < Tt s

B. Lord Curzon 2. Prohibition of B. W8 Hod 2. Tl ot =51 Py
Practice of Sati

i
!
|
|
|
!
i
i
i
i
e : c. o faferm 3. St = T
C. Lord William 3. Partition of Bengal a g
Bentinck ,‘ % §fé
|
|
|
|
|
|
|
|
|
|
I
)

D. Lord 4. Doctrine of Lapse D. o FHaE 4. =@ 1 Rigia
Cornwallis ;
Code : J . A B C D
A B C D i G o e
}
a) & . 8 ; ? b3 4 2 1
(b) 3 4 Sty ©3 4 1 2
(c) 3 ‘3‘ oy by @4 3 2 1

D - 8 B B A e R T A e e
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Consider the followmg events and arrange

following statements is/are correct ?
1. This tunnel is the world’ s Iongest

41, ﬁmﬁﬁ%mzﬁmﬁwﬁﬁqmﬁm

|
them i in corre:ct .chronologlcal order. : FITHATAR 7 § afedd Hifv |
1. Crlp.ps MIS.SI(?I] i 1. fra fime
2. Cabinet Mission | o e P
3. Shimla Conference ~— i '
4. Wavell Plan ' 3 3. Rwen wmieE
Select the correct answer from the code i 4, 9 A
given below : ) : ﬁ%ﬁqw%ﬁaﬁrmgﬁq
I Code : 00 ! %Re -
f (@ 1,4,3,2 (b) 4, 1,2, 3 : (a) 1,4, 3,2 (b) 4,1,2,3
I (c) 4,1,3,2 (d) 1,4,2,3 g (c) 4,1,3,2 d 1,4,2,3
I 42. With reference to Public Accounts : 42. vk wran wfufy % a7 frafafaa 5 @
Il Committee, which of the following ; HH-H1/8 F TE 2/E ?
i statements is/are correct ? =" i 1. ¥ o afufa s O & T &1
; ] '-c 1. Public Accoulilltsl?cl)imsmétﬁee submits g it 2 )
( its report to the Lok Sabha | :
I r—% 2. PubhE Accounts Committee consists ! 2. o orar affa # 75T @ % 15 95
1 of 15 members from Rajya Sabha. G
i Select the correct answer from the code #i9 fw 1T e @ T IW T :
given below : .
Code : Bed . = &
(a) Both 1and 2  (b) Neither 1 nor 2 (a) 13T 2 gt (b) TAr 17 &l 2
(c) Only 2 d) Only 1 (c) et 2 (d) e 1
Which of the following gasses 1s/are 43. Fefafaa § & S9-9 79 g 3 seht 8/8 ?
lighter than air ? ~ 1. TESNH FANES EE
1. Hydroge.n c}'llonde 0. Gowt SRINTFETES ke
2. Sulfur dioxide 5 q;;{':
3. Helium 3. giferam
Select the correct answer frorn the code 9 few Ty %< ¥ IW T
given below : T
Code :
(a) 1and?2 (b) Only 3« fa) 137K 2 (b) z: .
(c) 2 and 3 (d) Onlyk-‘l (c) 233 (d) 1

44, ‘I1ee T % e # Freffad # & FH-a1/4
FA TR/ 7
1. aggtn%saﬁaaﬁamﬁmnﬁgtﬂ% |

highway tunnel. e E e :
2. This tunnel is built in the Pir Panjal E’?@‘ 2. :g'%j,’m femme™ LRI ST@HT e
range of Himalayas. 7 1
Select the correct answer from the code 9 g 1w w2 ¥ T IH :
given below : e 5= giflq
Code : @ -
(a) Only 2. ) ql;'aﬁm 22
(b) Neither 1 nor 2 o 1 2 a;h
Both 1 and 2
@ on (d) eet 1

(d) Only 1

114
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e e —

45. With reference to ‘ozone layer’, which of the | 45, 3ﬁ5ﬁ7{ ‘TIH Ex Fl?ﬁ ﬁ Wﬁéﬂ | fi ﬁﬂ-m/ﬁ
following statements is/are correct ? Y 98 2/2 7
1. Ozone layer shields the surface of the
earth from the ultra-vmlet radiations t 1. ARIH Ta T&h H 7T A H\d A i el
from the sun. Ei% qeh ferfertr @ s R
2. Ozone depletion has been linked to Eii‘ e TR
the chloroﬂuorocarbons 2. 3T & H Al R |
Select the correct answer from the code fre fam e ez @ wEl s ghe
given below : .
Code : %2
() Only 2 (b) Neither 1 nor 2 () 1 2 (b) A7 17 2
(c) Both 1 and 2 (d) Onlyl (© 13R2aH (4 Fa« 1
46. Which of the following countries is/are NOT | 46. fy=fifad § & wF-a1/3 3 @t wgam ufwg
a member of the Gulf Cooperatlon Council ? w1 e @ 2/8 ¢
1. B
e ahrain — 1. s&tA B
. Iran G
2. O]
3. Iraq i Erﬁé
4. Qatar . = 5,
Select the correct answer from the code caeat
given below : - -_; Hi fo e gz @ wdt 3w g
Code : *” e
(@) 2 and 3 (b) 3 and 4 (a) 23R 3 (b) 33 4
(c) Only 3 (d) Only ¥ (c) a3 (d) et 1
47. Given below are two statements, one is 47. = T v feu T €, Rl = sfvem (A)

labelled as Assertion (A) and jche other as
Reason (R). -
Assertion (A) : Public Interest Litigation in

EIFE] India is essential for the rule of law.
Elrf.é Reason (R) : Public Interest Litigation

provides effective access of Justice to socially

and economically weaker sections.

Select the correct answer from the code

given below :

Code : ) --kl

(a) Both (A) and (R) are true ‘but (R) is
not the correct explanatlon of (A)

(b) (A) is false, but (R) is true

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A) e

TAT T FI FR (R) FHE TR |

e (A) : YRA § SHed AR F 6 WET

% fore ammaws |

HROT (R) : SAT&d ATTerehl Gmihes 3 s &

H FHASR T Dl AT T THIEHH TE FeH Tl

2

= feu T e @ adt W ghw

Fe:

(a) (A) 3 (R) GFl W& &, Tog (R), (A) =t
@ T H R

(b) (A) e B, fog (R) W& &

(©) (A) ¥, fFg (R) e B

(d) (A) 3R (R) T ®&I 2 3 (R), (A) F &
SR FAT &

1157
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48.

49.

[=]#%[=]
S

50.

Which one of the following books is NOT
written by Kalidas ? AW
1. Meghaduta
2. Raghuvamsam
3. Shringar Shatak
Select the correct answer from the code

given below :

Code :

(a) 1 and 2 (b) Only 3
(c) 2 and 3a (d) Only'1

Given below are two statements, one is

labelled as Assertion (A) and the other as

Reason (R). Y

Assertion (A) : Buland Darwaja was

constructed at Fatehpur Sikri by the

Mughal emperor Akbar.

Reason (R) : Akbar built this monument to

commemorate the birth of his son Jahangir.

Select the correct answer from the code

given below :

Code : s

(a) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(b) (A) is false, but (R) is true

() (A)is true, but (R) is false #

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

Match List - I with List - II and choose
the correct answer using t_he code given
below the lists. o

List - I List ‘—;n
(Port) (State)
A. Paradeep 1. Tamil Nadu
B. Tuticorin 2. Kerala
C. Kakinada 3. Odisha
D. Alappuzha 4. Andhl.ra Pradesh
Code : ez
A B C D
@1 3 2 4
)3 1 4 2
g3 1 2 4
d1 3 4 2

ey

49. = q e fou m &, R u @ arfiepe (y)
T gAY I B (R) el T E |
SR (A) : T THIE He T BAGY Hiehdt

i ¥ gere gearsT w1 Fmtor sam o |

| WO (R) : 3T 7 39 TN 1 Ffor 3793 g7

SR < 57 1 A1e T KT °T |

%e:

(a) (A) 3R (R) 31 ot €, FFg (R), (A)eﬁrzraﬁ
TET 8] T 8

(b) (A) Teid &, fhrg (R) @El @

(c) (A) & 7, g (R) 7TeTa B

(d) (A) 3R (R) AT T € 3 (R), (A) A T

CIZU-1§23
j" 48, Frefifad % & B-a1 T e 3 g o v
: f‘?‘«mw%?
! [m]#% [m]
| o !
:mi‘qf
‘: 3. f'pmmazs _
| el faw e e @ T I gfi
1 Fe:
f (@) 132 (b) et 3
; (c) 23R 3 (d) aer 1
.’
i
1

AT T B
50. A - 1 g - 11 & gafera Shifsre 3k gl
% 2 fow T F2 w1 T W A I g |
T -1 T - 11
(aw) (T=3)
A. TREY 1. dfemrg  [EEE
B. it 2. T m
C. FEHHTET 3. anfsm
D. 31O 4, Y Y
Fe:
A B C D
(@) 1 3: .24 14
3 1 4 2
(¢) i3'n 114425 (54
(d) le370 41122

1161
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51 Given below are two statements one is

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Sustamable development

should take place without damaging the

environment and development in the

present time should not compromise with

the needs of the future generations.

Reason (R) : Agenda 21 was siéhed by world

leaders in 1995.

Select the correct answer from the code

given below :

Code : D

(a) Both (A) and (R) are tru€, but (R) is
not the correct explanat;_on of (A)»

(b) (A) is false, but (R) is true-,

(c) (A) is true, but (R) is falser,

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

ESE
i

52. Match List - I with List — II:and select the
correct answer using the code given below
the lists.

List - I List II
(Pulitzer award (Awardge in 2025)
categories) O
A. Fiction 1. Jason Roberts
B. Music 2. Branden
Jacobs Jenkins
C. Biography 3. Susie Ibarra
D. Drama 4. Percival Everett
Code : )
A B C D ,
@3 4 2 1 s
b)-4- 3 1. 2 Y
g4 3 2 1 ey
43 4 1 2 OO
53. Which of the following enzymes is/are

released in stomach for protein digestion ?
1. Chymotrypsin
2. Trypsin

3. Pepsin

Select the correct answer usmg the code

given below : f

Code :

(a) Only 1 and 2

(c) Only 2 and 3

e S —

(b) Only3~
(d) 1,2 and 3

N ————————

CIZU-1 - 23

i e S R B A PO . O | A ot et P | BT

51. #Q weF g E, forl & T 1 FTEe (A)
T TE 1 H (R) FE TR |
iR (A) : Tda T TateRor i JehRET
gy fomn g =i o ade < forehra @t
E"Ewﬁmﬁﬁtﬁ%ﬁﬁm%mawﬁmq‘a‘f
#maﬁm
FRUI (R) : T 21 W fowa Janait grr 1995 |
TR fhy e 9 |
H feg U g @ T IW IR
e
(a) (A) 3M(R) I Tt &, R (R), (A) T &
ST TE T 8
(b) (A) e ®, forg (R) &l 2
(c) (&) TR 2, forg (R) Terdl @
(d) (A) 3R (R) 21 & & 3R (R), (A) ¥ T

STEIT Tl &

52. TE - [ g - 11 & gafera g g g
% < feu MU e 1 W w39 ghT |
T -1 = - 11
(IR g Soft) (2025 ¥ =)

A. TR 1. S|q Uadg
B. @4 2. S AheA-SARRG
C. S 3. gHt = @
D. gmI/EH 4. yHiae TEe
%
A B C D
@3 4 2 1
b)4 3 1 2
g4 3 2 1
@3 4 1 2

53. SR % 9reA & foe s § frefafed § @
HH-T/A G P R 7 @
1. wrEmifgfem Aela
2. fefem Elﬁ%
3. yfam
E
(@) Fad 132 (b) Haw 3
(c)%ﬂamﬁts (d)12aﬂt3
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54. Given below are two statements, one is

e - eIt A B -l s
e e e e e

labelled as Assertion (A) and, the other as
Reason (R).

Assertion (A) : India has a Parhamentary
system of Government. -f e

[
Reason (R) : In India, the executlve is
respons1ble to the leglslature ‘

Select the correct answer from the code

given below :

Code :

(a) Both (A) and (R) are true, but (R) is
not the correct explanation of (A) ¢

(b) (A) is false, but (R) is true

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are true and (R) is the |
l

correct explanation of (A)i?

Which of the following pairs is/are NOT
correctly matched ?

(Pass) (State/Umon
Terntory)
1. Lipulekh - Ladakh
2. Nathu La - Slkklm '
3. Bomdila - Arunachal Pradesh
4. Shipki La - Hlmachal Pradesh

Select the correct answer from the code

given below :

Code :
(a) Only 1 and2 (b) Only 2,3 and 4

(o) Only 1, 2 and 3 (d) Only" 1

i
* Which among the following words were
inserted in the Preamble of the Indian
Constitution by the 4nd Constltutlon

Amendment ?
1. Socialist
2. Secular

3. Sovereign
4. Republic
Select the correct answer from the code
given below : .
Code :
(a) 1and3
(c) 2and 3

(b) 3 and’4
(d) 1 and 2y

CIZU-1 - 23

54, A @ T Ry e 8, o o A e gy

T G I FRU (R) e TR |

firerer (A) : YT B TR T STt # |

RO (R) : YR B BRI ST % 9fy

Ieert gt € |

= fow ¢ Fe @ HE IHW AT ;

e

(a) (A) 3 (R) 21 @@ €, F5g (R), (A) 1 7
ST T8 BT 3

(b) (A) T &, ferg (R) W& B

(c) (a) @ 2, FFg (R) i 2

©(d) (A) 3R (R) 3T FE § ST (R), (A) FT

ST T &

55. frafiRaa # @ BH-a1/8 TW w8 gafd T

B/E 7

(5w) (T /3, e Tae)
I.W@ - e . EEE
2. Ay T - Tufee |I‘
3. Fmfsan - IRUEA 9N
4. Rt & - Tt TS
# fou ¢ e ¥ T IW AT :
He
(a) e 1 3 2 (b) o 2, 3 AN 4

(c) et 1,2 3 3 ((d) e 1

) 40 3 GfyaE dMYE gRT WS Siaam A

e 3 Frefeiad § § HH-8 = e
™Y ?
1. gaEy

[=]
T rifr v
*Tﬁé 2

3. FEA
4, TG
A fiw e e A FE IR AT :
!

() 133
(c) 233

(b) 33 4
(d) 132
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57. Match List - I with List — II and select the

58.

59.

[=]z%
*
(=l

&=

K@*

correct answer using the code given below the
lists.

List -1 L. List - II
(Emperor) (City where
Tomb is located)
A. Babur 1."Agra
B. Humayun 2."Lahore
C. Jahangir 3. "Delhi
D. Shah Jahan 4. Kabul
Code :
A B C D
(@) 4 3 2 1a ‘
3 4 1 2
€3 4 2 1
da 3 1 2

Which of the followmg Ramsar wetland site
is/are NOT situated in Uttar Pradesh ?

1. Sarsai Nawar Jheel ‘

2. Samaspur Bird Sanctuary

3. Rudrasagar Lake

4. Sultanpur National Park

Select the correct answer from the code

given below : o

Code :
(@ 1and 3 (b) 3'and 4
(c) 2and 3 (d) 1and2

Global Wage Report 2024 25 was released

by which of the following organisation ?

1. International Labour Organisation

2. World Bank

3. International Bank for Reconstruction
and Development i

Select the correct answer’ from the code

given below : b,

Code :

(@) 1and?2

(c) 2and 3

(b) Only 3
(d) On}y la

The Global Financial Stability Report is
released by which among the following ?

R AR NS SSR———

"‘-"‘;f

58.

59.

60.

CIZU-1 - 23

Fﬁﬁ-laﬁq\?ﬁ—négﬁmzﬁﬁquﬁm%

A=t 1T T e 1 i T 3w R |
T -1 Tl - 11
() (9T el wrehertt fere 2)

A. SR 1. 3R

B. g4 2. TR

C. g 3. Teeeft

D. gsgl 4, A

e
A B C D

@4 3 2 1

3 4 1 2

©3 4 2 1

@4 3 1 2

frfefaa & & SH-a1/8 THeR STyl w2
I vew § R 7 8/3 7

1. GWEs TR e

2. GUHY Y& AT

3. TR #id

4. GeaHQ TS I
glaﬂts (b) 33K 4
(c) 233 (d) 13R2

fFrafefea & @ forg gt g A oav fal
2024-25 W H T B ?

1. AU o9 GeA

2. fam 5=

3. AU gAfiatn @ foem 9%
i fow u e @ @ 3w g

E N

(a) 132 (b) e 3
(c) 23 3 (d) a1

Sftrer Tt fXman T fmferfaa # @ fess g
< S B 7

1. International Monetary Fund 1. it g E]

2. World Ecoiomic Forg‘rfl! 5 e s 3&

:elezotrl'li fci‘nrect answerr from the code 8. ﬁw &
given below : \ ﬁﬁ&m@ﬁaﬁwgﬁq:
Code : ®e: 8
(a) 1and 2 (b) Only 34 (a) 132 (b) e 3

(c) 2and 3 (d) Only 1 (c) 23 3 (d) et 1 B

e e it 5. g

S S L
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With reference to lichens, whlcnh -of the

CIZU-1-:

P T 1 o T o 1 Y 1 B R Dy o B Y B B . S B

61. aﬁﬁﬂ%mﬁnﬁqmaﬁﬁaﬁ?—m/ém

61. I
following statements is/are correct ? !
1. Lichens are very good indicators of l' @ e/e 7 )
pollution. ) i 1. W3 TG & agd 3= Tohdh & |
3 e pbe mlipion |, 3¢t 8 S b
e correct answer from the code | .
given below : M. 5 et fow 77 e @ wet 3w ghC ;
Code : o f %
(a) Only 2 (b) Ne1ther 1. nor2. | (a) e 2 . (b) T 1782
(c) Both 1and2 (d) Only I | () 13 23F  (d)pdEeid
]
62. Whichﬂof the fc};lll(()iwing pairs is/are NOT | 62, f=foRaa 3 4 -8/ T GHeTd T 8/8 7
correctly matched ? | 7
(Day) /(Date) I' ) ( ) uie))
EiE ! International - 16 September | 1 sl s fem - 16
Leay Ozone Day i [ yaferwy fega _
Eﬁ 2. World Environment - 5 J{iﬁe | ez 2. fawm S
Day | B 5. fop gl R - 229d
3. World Wildlife Day - 22 March i
Select the correct answer from’ the code et fog T Fe d Fgt I gﬁq :
given below : %R :
Code:
(2) 1and 3 (b) Only 3¢ (a) 133 (b) et 3
(c) 2and 3 (d) Only 1 (c) 233 (d) I 1
63. With reference to ‘Brazil’ whlch: of| the 63. ‘FRIA & Hﬁ‘fl ¥ fafafed § @ SH-T1/8
following statements is/are correct ? o G 2/2 7
1. The equatonal rainforests of Brazll are 1. sehel ¥ Wm el Y T TR E |
called Selvas’. T w1 B ‘Iﬁl 2 >
2. The dark black colour fertlle land here 2. FEl [ <l IS
is called ‘Terra Roxa’. T’ hEd 2 |
Select the correct answer from the code R g T % F FE I gMT
i ™ .
(a) Only 2 (b) Neither 1 nor 2 (a) 3ﬁ12 st (b) 7 11=T a2
(c) Both1and2 (d) Only 1 (c) 132 (d) e
[ i
64. Match List — I with List — Il and_choose the |  64. ¥l -1 S Tl — 11 & gafera $ifre kg
correct answer using the code glven below F d= feg U g = T L GEl I ﬁ’ﬁ‘! |
the if‘sts I List - II lﬁﬂ -1 H\Eﬁ I [=:%[a]
(Finance (Chairman) (F= 33 ) (312&1) EE&
Commission) A, 1@
A. Eleventh 1. Dr. C. Rangarajan B. 9Rg4dl 2. gl 9. @ &
B. Twelfth 2. Dr. Y. V. Reddy c. dwat 3. . T w. g
C. Thirteenth 3. Prof. A. M. Khusro D. Stezat e ﬁﬁl’q -
D. Fourteenth 4, Dr. Vijax L} Kelkar ) . T
Code : e He:
A B C D T A B C D
@3 1 4 2 : P @3 1 4 2
b2 3 4 1 % b2 3 4 1
©3 2 1 4 ) ©3 2 1 4
(@) 1' 352 4 @1 3 2 4
v20y T
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65. Which among the following is/are NOT a
social indicator of poverty ?

E
e

66.

67.

<5

0

1.

2
3.
4,

Select the correct answer from the code

Illiteracy

. Safe drinking water

Job opportunities
Size of the house

given below :
Code :

(@) 1 and 2
(b) Only 4+
(c) 3and 4
(d) Only 1

Match List — I with List — II and choose the
correct answer using the code given below

the lists.

List -1
(Lok Sabha)

A. 1111 Lok Sabha
B. 12th Lok Sabha
C. 14t Lok Sabha
D. 17th Lok Sabha
Code :

A B C D
@2 4 3 1
b)4 2 3 1
©3 2 4 1
2 3 4 1

With reference to the Treaty of Aix:la-Chapelle,
1748, which of the following statements is/

are correct ?

1. The first Carnatic war ended.
2. Madras was returned to the British.
Select the correct answer from the code

given below :
Code :

(a)

Only 2

{p) Neither 1 nor 2%/

(c)

Both 1 and 2

) Only

1p
__________ 2 s

CIZU-1 - 23

s
|
!
|
|
!
!
1
!
i,
!
i
?
!
{
|
!
a
|

List - II
(Lok Sabha
Speaker)
1. Om Birla
2. P.'A! Sangma
3. Somnath
Chatterjee
4. G.M.C. Balyogi

65.

67.

fafifga 8 | # R = amfies dhas
TR 7

1. Frema

2. Uit Taere

3. TR & TR

4, BT JTHR

= e e e & @@ I g
E

(a) 132

(b) Haat 4

(c) 33 4

(d) e 1

e - 1 9 gt — 11 & gafer <A ofie gfei
% = feu U e H WM W F@ I T
g -1 T - 11
(v |e) (Gledeniciata))

A. 11 9 &lisp 7 . o fagen

B. 12 df s @ . bt @

C. 14 f | @ . T =SS

D. 17 =i &% @ . e, s

T4
A

(@ 2

(b) 4

(c) 3

(d) 2

TS 1748 1w % god # Pl
# A HH-T1/4 YA T 2/ 7

1. S FAeh g THIG §AT |

2. TG IS Ay wX e ma

et fog Mo g2 @ W oW gfw

He

(a) Haw 2

(b) T 1TH 2
(c) 1 3fit 23
(d) Sae 1

A W N =

w NN AW
S P 0w O
—_ ok = = g

121
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68. Which of the following pairs is /are NOT

69.

correctly matched ?

(City) (Rive;)
1. Budapest - Danuibg
2. Cologne - Rhine,
3. New Orleans - Missouri
4. Hyderabad —

(India) - Paleru

Select the correct answer from the code
given below :

Code : £ o

(@) Only 1, 2 and 3 (b) Only 3 and 4

(c) Only 2, 3 and 4 (d) Only,;1.and 2
With reference to ‘Baking Sociai%; which of
the following statements is /are correct ?

Elgi_lg] 1. It is Sodium hydrogen carbonate.
Rrlert . . . .
@i‘& 2. Itis used in fire extinguishers.

Select the correct answer from the code

i
s
|
|
i
i
i
!
.’

CIZU-1 - g
68. fieiffad § @ w1 m/@waﬁ%q@
%/% 7 EE
(7m) () ,’g}f@
1. genw - T
2. HIAH - T
3. 9 It - T
4. BCTEG (WRE) - wom
2 few M0 e @ R 3o o
%zo

69.

(a)-aw_ﬂﬁl,zaﬁIS (b) A 3 37k 4
(c) et 2, 33 4 (d) Faer 1 3ik 2

i drer % g §, frafafag §
BI-T1/H T T 2/ 7

1. 78 Hifeam grsgiom weie &
2. ¥§ s 9= 3 yae 2

P Ll I :

given below : s e feu e e & w gfT
Code : o %he: :

(2) Only 2 (b) Neither 1 nor 2 (a) et 2 . (b) I 17 2

(©) Both 1and2 (4 Only'1(/ (c) 13 23 (d) e 1 _

70. Which of the following preparédﬂthe Annual 70. Trmafafeq @ fres g aiffs ERERINCHIRTCI

Groundwater Quality Report 2024 ? 2024 IR hi e ?.

1. Central Pollution Control Board 1. %5 wguor e &

2. Central Water Commission; 2. FEH I AT

3. Central Groundwater Board :%» 3. R ywe W8

Select the correct answer fro;n:il Jthe code %rﬁ\% = ﬁ-q T %2 g g 3W ﬂﬁQ e

given below : £y Fe:

codsi: 1 @il 3, (a) 132 (b) ¥t 3

(a) 1and 2 (b) n1y1 @ 2303 (@) 3 3

(c) 2 and 3 (d) Only ,

j HIS A ST 6 Heeg & 7
71. Who among the following were the members 71. Fefafed § % FW w
" of the Fazal Ali Commission PRy 1. %. . e

1. K. T. Shah - 2. %. TH. UfmEER

2. K. M. Panikkar ‘,; N

3 1;1' Sl\';taéagzlrih R 4. T W. T

4. H. N. Ku i .
Select the correct answer from!the code 9= fw e ET T T I iﬁm .

iven below : Fe '
Code : (a) 133 (b) 2 3 4
(a) 1and 3~ (b)"2End 4 () 23K 3 (d) 13h2 |
(c) 2and 3 (d) 1and 2 i - s M
T 1221
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72 Cons1der the followmg and arrange them in
the correct chronological order.

1. Atal Mission for Rejuvenation and
Urban Transformation

2. Jawaharlal Nehru National ' Urban
Renewal Mission ‘

3. Jal Jeevan Mission

-y

CIZU-1-23

SHITSHATTER 560 T oaferd i |
1. 31 wEThed 3Nyl afEds fgm

2. JETEETd g€ U wreh e firgm
3. e Sfter fyem

[ EF
4. National Urban Housing and Habxtat Policy | 4, TS vigh STETE vd wEiErE iy !-54‘;7%
Select the correct answer from the code | E“."
given below : : = ey Mg % TE IW AT
Code : i Fe
(@) 2,4,1,3 (b) 4,2,1,3 ! (a) 2,4,1,3 (b) 4,2, 1,3
(¢) 2,4,3,1 (d 4,2,3,1 (c) 2,4,3,1 d) 4,2,3,1
73. With reference to ‘earthworms’, which of the 73. ‘hgu’ & wey A frafafed § @ HF-T1/8 wum
following statements is/are correct ? wEl 8/8 ¢
EiE 1. Earilworms improves sml fertlhltjy and 1. W ﬁ‘{cﬁ £ 35 | T 5 3in Fraei
’h"‘& ] are known as farmer’s friends. " g ¥ e % wq 5 9 o 2
1&% 2. Earthworm has two pair of hearts. ‘ Sy S .
Select the correct answer from the code 2 & SIS EE B 2 |
given below : e feu e e @ W swoghe
Code : %®e:
(a) Only 2 (b) Neither 1 nor 2 (a) e 2 (b) A 17 & 2
(c) Both 1and2 (g Onlyl (c) 13 2<m (d) a1
74. Arrange the following saints in | correct 74. Tafafaa g =t od FesraaR 0 § afea
chronological order and select the correct shife aun Fi= feu v % & wE 3| g |
answer from the code given below 1. T
1. Nanak bl
2. Chaitanya Mahaprabhu 2. &Y
3. Namdev 3. A
4. Kabir 4. HER
Code : : E
(a 3,4,2, 1~ (b) 4,3, ,2 : (a) 3,4,2,1 (b) 4,3,1,2
(c) 3,4,1,2 (d) 4, 3;2;1 i (c) 3,4,1,2 (d) 4,3,2,1
|
75. Which of the following is /are NOT acold | 75 ffafea &8 HH-d avdl memmrE aw T@
ocean current ? /87
1. Agulhas current 1. 3TE™ 4w
2. Brazil current EiE 2 CISIRRIE
3. Humboldt current ! E]f 3. gEee U
4, Callfornla current : e 4. Wﬁgﬂ' T
t answer from the code .
S.elect the correc E = feu e R A wE s g
given below : Tz .
Code :
1) 3 and 4 , (a) 133 (b) 33 4
(a) 1 and 3 (b) 3 an 3 iR d1aﬁt2
(©) 2 and 3¢ () 1and2 | ) 2R3 - (dEeRE
T mm T 1231
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(c) Bothland 2 (d) On%y 1

(|
i -
: A CIZU-1- g
x k e 5 e T
u 76. xgg xrefgﬁ?cche tgf‘ltflﬁlelt;olﬁﬁgsmnal Poverty | ! 76, g - e e ¥ Hed § ey i
. g statements | g FH- m/ﬁ 2 el %/‘é’ ?
| is/are correct ? i
o . : 38 2010 # foefaa 3R y&qa fmn
n 1. It was developed and introduced in 2010, ! 1. R
2. It measures extreme poverty and ‘ 2. ¥ Iredfereh T 1 ATGAT 3 3 wfafe

- includes those living on less than one | Teh STeR § A W ST A9 H aredi ay
: dollar per day. 1 it Far ® |

| Select the correct answer usmg the code CiE] g I gHT
| given below : : F2 :ﬁq AL
;\ Code : ! Y A
| (a) Only 2 (b) Neither 1 nor 2 : (a) 2 . (b) 77 17 2
= (c) Both 1and2 (d) Only 1 i (c) 1 32 g (d) a1
m {
- 77. Which of the following pairs is/are NOT |77, Prfafea § 9 HH-|1/3 JH g gafea 78
- correctly matched ? 1 2/8 7
= o i )
= I:%l E! (Acid) (Acxd found in) : (37%7) (3T U AT B)
EiaE 1. Lactic acid - Curd ! 1. affes ot — 4| E5E
- 2. Tartaric acid - Grapes 2 0. Tifer I - 31'1{ =:-_:4;7
fas) 3. Acetic acid — Potatoy 3. wfyfew It = ‘74
= | Select the correct answer from the code

, I ﬁﬁQ H
= | given below : :ﬁ%ﬁq e g 9wl
| Code : ke 3 e
(a) 1and?2 (b) Only 3 (2) 132 (b) B
= (c) 2 and 3% (d) Only1 (c) 23R 3 (d) e 1
[ /

| ‘ - = .
78. With reference to the Indian® Ocean’, which 78. ‘fee wgm@mR’ % ded ¥ famfefea o |
I# ‘ of the following statements is/are correct ? SH-ar /8 %U7 TE 8/8 7
= 1. It was called by the Ancient Greeks as T q\:nﬁaﬁ SR
o | Erythraean Sea. L= NN i Y ;IHWW%W !
' 2. It is spread on the either side of equator. 2. I8 HI TWH g e |
= Select the correct answer from the code = few %< q Tgdl I gﬁQ g
= given below : Yy e

Code : Fae 2 (b) AT 1T & 2

- ; 1 5 (@) )
(a) Only 2 ob) Neither 1 nor | o1 af 2 @t (d) ¥t 1
e
[

79. ﬁmﬁfﬁaamaﬁﬁaémmﬁ

79. Arrange the following events in correct

i
|
i
{
chronological order and select the correct : St Hiftm qu Y e T 5 F 78 @
= | answer from the code given below. : F gﬁq |
En 1. Battle of Kannauj ; 1. =it B 0 -
: 2. Battle of Daurah : 2. A = AE E%
= 3. Battle of Samugarh : 5 - 1 72 ;
- 4, Battle of Chausa : . £ i
: 4 Code : I =
{
(] 1 (@ 2,4,3,1 : @ 2,431
: i (b) 41 21 1:3 I (b) 4’ 2, 1’3
=g (©) 4,2, 3,1 ! © 4,231
m (d) 2,4, 1,3 i (d) 2,4,1,3
)

s e ' . e o - e - - e - P B - B - B W - . Ot ..

‘; 124
_\l ‘
: ,‘wl-_’l b ' EE
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. Which of the following statements with
reference to ‘blood’ is/are correct ?
1. Blood is composed of plasma and
different types of cells.
2. The presence of haemoglobin makes
blood appear red.

Select the correct answer from the code
given below :

Code :

(a) Only 2 |
(b) Neither 1 nor 2
(c) Both 1 and 2+
(d) Only 1

81. Who among the following Indian novelists
and journalists is/are part of the five
member jury for the 2026 International
Booker Prize ?

1. Natasha Brown

2. Kiran Desai

3. Nilanjana S-Roy

4. Rajni Chauhan

Select the correct answer from the code
given below :

Code :
(a) 2and 3 (b) 3and 4
(c) Only 3 (d) Only 1

82. Match List — I with List — IT and choose
the correct answer using the code given

below the lists:.

List -1 List - II
(Committees (Chairman of
of Constituent Committees)
Assembly)
A. Union Constitution  1.Dr. Rajendra
Committee Prasad
#¢[@ B. Rules of Procedure 2.J.B.
F?-' Committee Kripalani
EE C. Drafting Committee 3.Dr. B. R.
Ambedkar
D. Fundamental Rights 4.Jawaharlal
Sub-committee Nehru
Code :
A B C~D
@2 1 3.4
b) 1 4 3.2
)4 1 3 2
(d1 2 3 4

N e e e o -

80.

81

82.

CIZU-1-23

T’ %mﬁﬁ ﬁnﬁﬁi‘wﬁﬁﬁ#-m/am
a8 B8 7

1. W e 3R fafim= s o it @
AR |

2. et i Iuftfa wa w1 afemmga
TR 2 |

T

(a) Fadt 2

(b) A 178 2

(c) 13k 23gmi

(d) e 1

frfafag § & B T ITAEHR 3N THR
2026 % AU T TEHR hi are deeiid Sl
=1 fewmn 2/ 7

3. e . Ua E”‘"é ‘
4. W SEH |
R fou T e @ T R R ; :
o ;
() 231 3 ) 3 37 4 |
(c) aﬁas (d) Fae 1
e — 11 g - 11 & gafea e o gl
% i fou g e @1 W@ W TE IW AT |
T -1 T - 10
(afaam e & (wfafti & sveae)
qtufaai)
A. e gfqur afufa 1.31. To% Y9G
B. wfskan fm wfirfa 2.3 &1, FIAH
C. ey afifa 3.8 i, Im.
IFETH
D. Aifeiss 1R 4, FATEATA TEE
Iy-aifd
F:
A B C D
@2 1 3 4
)1 4 3 2
4 1 3 2
2 3 4
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83

84.

85.

" (b) Neither 1 nor 2

Con31der the followmg and arrange them
in correct chronological order.

1. Jawahar Rojgar Yojana

2. Development of women and children

& in Rural Areas
x % 3. Integrated Rural Development

Programme
4. National Rural Employment
Programme
Select the correct answer from the code
given below :

Code :
(@) 3,4,1,2 (b) 4,8,2,1
(€ 4,3, 1,2 (d) 3,4,2,1

Which of the following districts of
Uttar Pradesh shares its boundary with
only one other district of Uttar Pradesh ?

1. Lalitpur

2. Saharanpur
3. Sonbhadra
Select the correct answejr;fﬁ‘-orn the code
given below : )

Code : =

(a) Only1and2 (b) All,2 and 3
(c) Only2and 3 (d) Only le

i
I
!
I
a
|
|
|
1
!
|
!
!
|
|
|
|
f
i
!
|
i
|
i
!
i

With reference to Panchayatl Raj Institutions !
in India which of the followmg statements |
is/are correct ? .

1. Tenure of Panchayatii Raj Institutions
shall be of 5 years.

2. In Panchayati Raj Instltutlons out of
the seats reserved, 1/4 of the seats shall
be reserved for women belonging to
Scheduled Caste and Scheduled Tribe.

Select the correct answer from the code

given below : "(","‘
Code : N
(a) Only 2 (e

(c) Both 1 and 2

i
i
i
i
}
i
|
{
i
!
i
|
i
i
a
|
!
H
i
|
i
i
(d) Only 1 « ]'

CIZU .,

83, Freferfan W e IR o0 95
FHITHATGAR 3 T srafedd $ifao |

1. aTgt SR FHT

2. grfioy & o afeenati 3R a==it 1 fpm
3. ehigha U0 fershre hrefRA

4, Tedta amftor s HrfE

12 e e e & @@ 3w ghw
Fe:

(@ 3,4, 1,2 (b) 4,3,2,1
(c) 4,3,1,2 (d 3,4,2,1

84. IW YW & Fefafaa fel 4 4 wl-|1/8 e,
I 92 & had T 37 o7t & a1y 379t dim
igmaﬂ%%/%?

i 1w
2. YR
3. YR
e few ¢ e @ wE S g ;
Fe:
(@) %act 132  (b) @t 1,2 3 3
(c) shaet 2 3R 3 (d) Hae 1

85. WRd H yumd! U Henafi & wed # fefafaa

0 HA-E1/4 FU T 2/2 ¢

1. USTEdl U9 GRA13T 1 RiET 5 99
B |

2. USRI U HEANa H SRfye v 8 Y
1/4 ®IM 3FHea Sfd v Sgfaa sy
ﬁmﬁ%ﬁﬂmﬁﬁﬁﬁl ."':EI

:ﬁ%ﬁqmﬁﬁﬂ'ﬁﬁﬁﬂﬁq: 1"{"_5

Fe2:

" (a) A 2

(b) A 17E 2

(c) 1 3R 2 M

d) a1


User
Highlight

User
Highlight

User
Highlight


T

Match List — I with List — II and select the !

86.

El?% B‘

87.

88.

89.

correct answer using the code glven below the
lists.

List -1 List - Il :
(Writer) (Book) -
Trivikram 1. Gita Govinda
Bhatta (L
Somdev 2. Brihatkathamanjari
. Jaidev 3. Nal Champu
. Kshemendra 4. Katha Sarit Sagar

Code :
A B C D

@3 4 1 2

4 3 2 1

(c) 4 3 1 2 N

(d) 3 4 2 1 ™)

Which of the following archaéological sites
related to Indus Valley civilization are
situated in present day Uttar Pradesh ?
1. Mandi
2. Rakhigarhi o
3. Hulas g

Select the correct answer from the code
given below :

Code : L
(@) 1and?2 (b) Only'3-
() 1and 3 (d) Only 1y

Consider the following sources of world water
supply and arrange them in descending
order. nY

1. Oceans

2. Rivers

3. Polar ice and Glaciers

4. Ground water
Select the correct answer from the code
given below :

Code :
(@ 1,3,4,2 (o) 1,2,4,3
() 1,2, 3,4- d 1,4,3,2

Which of the following is/are a Financial
Committee of Parliament in India ?

1. Public Accounts Committee’

2. Estimate Committee =

3. Committee on Public Undertakmgs
Select the correct answer from the code
given below : e
Code :
(a) Only 1 and 2~
(c) Only 2 and 3

(b) All1,2and 3 e
(d) Only 1

NN ————— et

CIZU-1-23

[ ———————————

| 86. Fﬁﬁ—laﬁrgﬁ-lxﬁgﬁ%azﬁmamq&m%
i i feu e e @ ¥ IW AT |
{ gl -1 It - 11
: geeea) (1)
! A. Bifasm vz 1. it Mg E%gl
, B. "mca 2. JECRUTH Elﬂ;f
} C. e 3. 7 99
| D. &9g 4. FY1 G arr
! %2
! A B C D
g @3 4 1 2
i )4 3 2 1
! g4 3 1 2
E d3 4 2 1
{
| 87, Ry Wi wa & Tl fefiiaa gudfes
Ay T T HIW YT A fRAE 7
1. A ?
2. TETe!
3. g
= feg U e @ wE IW g
w2
(@) 132 (b) e 3
(c) 13Mm3 (d) Fae 1
g88. fuva w& amyfd 3 Fr=feriga &l W feEm Sifsg
T 376 AU w0 I afer Hife |
1. HEETR
, 2. Hfear
| 3B 5. g b sie fewe
M 4. T v /v
9 feu T e & W 3w g
he:
(@ 1,3,4,2 b) 1,2,4,3
() 1,2,3,4 (d) 1,4, 3,2
89. Trmafafga # ¥ w=H-m1 wid & wue # fasdim
affa 2/2 ¢
1. @i o afafa
2. ke At
3, gress I5RT afifa
F2:
() Faat 132 (b) Wfi 1,2 3R 3
(c) hae 2 3R 3 (d)%h—clrvrl
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90. Match List - I with List - Il and select the | 90, T - 1% g - 11 & gk iy 0 ey

correct answer from the code given below s

91.

92.

the lists. ,
List - I List - II
(National Park/ (State/Union
Wildlife Territory)
Sanctuary)

A. Dachingam 1. Madhya Pradesh

B. Keoladeo 2. Rajasthan

C. Kanha 3. Kerala

D. Periyar 4. Jammu and

Kashmir

Code : P ,

A B C D e
@4 2 3 1 )
b2 4 1 3
2 4 3 1
d4 2 1 3e

Which of the following countxiéé is /are NOT
a member of the Bay of Bengal Initiative
for Multi-Sectoral Technical and Economic
Co-operation (BIMSTEC)’? ('

1. Thailand o

2. Nepal

3. Bhutan

4. Indonesia

Select the correct answer from the code
[

given below :
!

Code : T,
(@) 2and 3 (b) Only 4 -,
(c) 1 and 4 (d) Only 1-

QO
Which of the following pair is/are NOT
correctly matched ?

(Dam) (River)

1. Baglihar Dam - Chen[a-b“

E':i@ 2. Pandoh Dam - Ravi
Ei}% 3. Srisailam Dam - Tungabhadra

Select the correct answer from the code

[&p)

given below :

Code :
(a) 1and?2 (b) Only 3
(c) 2and 3 (d) Only 1

o e

128

|
!
|
!
i
!
H
i
!
f
|
!
!
i
|
i
|
[
|
!
i

i
i
|
|
|
|
|
|
|
|
|
!
i
|
|
|
i
|
!
i
|
i
{
|
|

91.

92.

[

e R . - R B < Bt Bt

CIZU-1_23
19 fou T g2 @ wE IW gw |
it - 1 et - 11
(et sem/ (T3 /% wifem
TG AEARTT)  929T)
A. Ty 1. 7ey yey
B. aaed 2. I
C. &Il 3. *e
D. @R 4. S 3R FHyei
Fe:
A B C D
@4 2 3 1
(b)2 <. 41 113
(e) 2" Wiy tuguin’y
d4 2 1 3

f=fafiga 4 @ wig-w1/da 2w 9ma 1 @
ag- &1 aehAIh! 31 3TTffes TEanT ggd
(feadss) FTacE 7 2 7 E#E

1. UEAs
2. qUE
3. EH
4. 3SHRET
e fou 1Y e @ T Iw ghe
T
(a) 2 3N 3 (b) Fae 4
(c) 134 (d) Fad 1
fr=fafaa 3 @ w-a1/8 3@ o gt =6
3/2 7

(ater) ()
1. SRR iy - fe
2. USIg 91y - et
3. fiiem sy - gmE
= feu T gz @ wE I gh
Fe:
(a) 132 (b) aet 3
(c) 23R 3 (d) Faet 1
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, 93. With reference to Mangrove Initiative for 1
Shoreline Habitats and Tangible Income
(MISHTI), which of the followmg statements
is/are correct ? -

1. It was initiated in 2019 T

2. It aims to restore Mangrove forests.
Select the correct answer from the code
given below :
Code :

(a) Only 2
(c) Both 1 and 2

0

(b) Neither 1 nor 2

(d) Only 1

94. Given below are two statements, one is

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : The Himalaya}s form

source of several large perennial rivers.

Reason (R) : The higher ranges of

Himalayas are snow covered-throughout

the year.

Select the correct answer from the code

given below :

Code :

(a) Both (A) and (R) are true;-but (R) is
not the correct explanation of (A) &

(b) (A) is false, but (R) is true,

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are true; and (R) is the
correct explanation of (A)-

Given below are two statements one is
labelled as Assertion (A) and the other as
Reason (R). N

95.

v’-';-@ Assertion (A) : The territories of the
R c,;f Sultanate could be broadly, d1v1ded into two |
parts - the Khalsa and the ,Jﬂaglrs
Reason (R) : The Jagirs co'i'hprised of the
land under the control of the State.
Select the correct answer from the code
given below :
Code :
(a) Both (A) and (R) are true, ibut (R) is
not the correct explanatlon of (A)
(b) (A) is false, but (R) is true,
(c) (A)is true, but (R) is false
(d) Both (A) and (R) are true’and (R) is the

CIZU-1-23

FP D —————— SIS RS L E e e

03, T T 3R d 3 % forw T gee
(frsd)) 3 T § Frrfeflaa | & #FA-w1/9
HUF TE 8/8 7

BIEE] 1. 8 2019 % srow e o o |

EE 2. oo Segg ua el o greifia e € |
= oy U %2 @ w9 I AT
He
(@) Haet 2 (b) AT 1TE 2
(c) 13T 2 (d) Fae 1

1 &) o fow T 8, Rl & v R SR (A)
T A <l T (R) e TR |
afirmem (A) ; femTerg 31 S Taaane!

94.

Ffeat o1 Igm W 2 .
Rl (R) : femrera it S=h Aomt @
femTeaTied & @ | B
i few e ge @ Tt Iw g

e

() (A) 3T (R) FT =& &, fFg (R), (A) A

e ST el T ©

(b) (&) e 2, fohg (R) ¥ @

(c) (A) @& B, fohg (R) i 2

(d) (A) 3R (R) SHT @&t & 3 (R), (A) H TR
AT BT &

= & %A e e 8, 5 s +r afeweA (a)

YT A F HWT (R) FE L

afireRer (A) ; T 3 &5 1 AR WA

wret & el Rean o waT 2 - @ 3R

SR |

FHWOT (R) : A0 & T 6 Faa 0 31 areft

iy wmftrer eft |

xR e

(a) (A) 3R (R) 31 & €, T (R), (A) 1 =&
ST el HT B

(b) (A) T B, fohg (R) W&l @

(c) (A) W& 2, fFg (R) e &

(d) (A) 3R (R) A T & 3R (R), (A) o T

95.

correct explanation of (A)’

FERU— RS

STET T B

e . B Bt - B - B P A P e - -—

1291

—
/
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96. Match List - I with List - Il and select the |  96. T - 1R g - 118 gafera Hifim W%}%ﬁ

correct answer using the code given below | ¥ f9 g Mo F2 ¥ Td 3¢ T |
the lists. -
List - I List — I - Tl -1 T - 1

(wgmnfenymu e 2025)  (fsia 2025)

(Padmavibhushan (Awardee 2025)
) A. TR 3R a1, o defmrm

Fields 2025)

f
[
|
i
|
g
A. Trade and 1. Shri . i
g}ﬂ% Industry Lakshminarayana | SELSE
Bl Subramaniam : B. Oifeed 3R fem 2. #ff g g
B. Literature and 2. Shri Osamu i :
C. ¥ 3. i w. 3. e
Education Suzuki , ; Eil g : E A
C. Medicine 3. ShriM.T. 1 | Bl S5l
Vasudevan Nair i D. =l 4, # . ?ﬁm@
D. Art 4. ShriD. Nageshwar | .
Reddy <0 | e
Code : LA A B cC D
A B C D @3 2 1 4
@3 2 1 4
b) 2 3 4 1
M2 3 4 1 (b)
d3 2 4 1 P d3 2 4 1
97. Pushkar Kumbh Mela 2025 was held in | 97 #$2025 & gsh 34 T 2025 F1 3TRISH Hefiiad
May 2025 in which of the following State(s) ? T Y o Tsa /Tt 4 TSR o ?
1. Rajasthan " )
i
2. Uttar Pradesh E_] [E! 0. IW W
3.1 Utta;-akhandt Wy I R
Select the correct answer irom € code
given below : i R R e ¥ Wt S g
Code : e
(a) 1and 2 (b) Only 3. . (@) 1372 (b) T 3
(c) 2 and 3 (d Only 1 ¢ (c) 233 (d) o 1

98. T=fafaad wui § § HF-¥1/8 Fu7 a9 8/2 ?

98. Which of the following statements - |

is/are correct ? i Tuitt it 3
1. Dolphins and Whales breathe through =ife .I =3el HIEled & Hiead & Hig
blowholes. s st g | ,
2. Earthworm breathe through ther{rv 4 2. %E{Q 3 . s % |
skin. o l
Select the correct answer from the code T fgg ET T HEl I T
given below : v F<:
Code : 0
(a) Only 2 * (b) Neither 1 nor2 | (a) et 2 | b) A 178 2
n (pbaiv2dri  (d) Faw 1

(c) Both 1 and 2 (d) Only 1

130]
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99.

100.

101.

CIZU-1- 23
Given below are two statements, one is g 99 ﬂ% 't::l W ﬁ'{Q’TQ% ﬁrﬂfi Qﬂ?ﬁ Hﬁﬁﬁ?ﬂ (A)
labelled as Assertion (A) and the other as qen ig} T FHR (R) g1 T R |
Reason (R). '

|

| .

"y b ey STRUA (A) : TS TR i ar@ymon #

Assertion (A) : The concept of National iE!.':i[gl (ai)lﬁj?ﬁ . .

Integration involves political, economic, 'IE'II‘% s, ’ y SIS , A

social, cultural and psychological dimensions " T S qen 3k e R gy

and inter-relation between them! * gfRyferd € |

Reason (R) : The National Integration i
TR (R) : T Tehal YNuE &1 Ted 1961 |

Council was constituted in 1961 on the (R)

principle of ‘Unity in Diversity’. ‘3T B TRl % g % UR W Ren e

Select the correct answer from the code i o e e @ W I EGLE

given below : = E TN

Code : . (2) (A) 3R (R) 3T =l €, fFg (R), (A) I @&t
(a) Both (A) and (R) are true, but'(R) is ST TET B

not the correct explanation of (A)

(b) (A)is false, but (R) is true = ! (b) (A) e 7, f3g (R) el @

(€) (A)is true, but (R) is false (c) (A) ¥ &, fg (R) T 2

(d) Both (A) and (R) are true and (R) is the (d) (A) 3 (R) T @l & 3 (R), (A) Y T

correct explanation of (A) STEAT Tl ?

Consider the following elements found in 100. U ¥ 70 fp.. =afdd & 1@ 9 9
atypxcal?Okgmanandarrangethemm ﬁm‘%{igaaaﬁmﬁmtzﬁﬁqws%ﬂﬁaﬁ
correct increasing order. ¢ 1 A o SafRd Hifw |

1. Sodium 0 o

2. Potassium ;,:E, E! * e

3. Copper Eirﬁ% = )

4. Iron 3. dm

Select the correct answer from the code 4,
given below : s e fow T e @ Tl sw g
Code : e
(a) 4,3,1,2, (b) 3,4,2, 1. (a) 4,3,1,2 (b) 3,4,2,1
(c) 3,4,1,2 (d) 4, 3,2, 1.3 c) 3,4, 1,2 (d) 4,3,2,1

Consider the following Committees relating | 101. TR & geiftra Rffas afife w fer S

to poverty and arrange their formation in

s AT T TS i el HICBRATIAR 30 & carfier
E}ﬁ@ correct chronological f)rder. Hifvr |
Ejr.e 1. Lakdawa.la Comml%tee ) ' afuf
e 2 oo
. Tendulkar Comm ) _

4. Dandekar and Rath Commitfge 3. %‘W wftfa

Select the correct answer from the code 4. TEH 3N W FHf

given below : ",:'.,‘J Hr feu T e @ wd I ogh

Code : "}Tv‘* E T

(a) 4,1,2,3 (b) 1,4,3,2 (@ 4,1,2,3 (b) 1,4,3,2

(c) 1,4,2,3 (d) 4,1,3,2 c) 1,4,2,3 (d) 4,1,3,2

. e - it B B S B B G gt
e e e B s B B B ' B B M

131]
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102

103.

. Bt ! o e B o . . . . ot it s o

| 102. faeferfiga w8 @ HA- zﬁumﬁaafaumﬁ

thch of thL followmg languages is/are
NOT included in the Eighth Schedule of
Indian Constitution ?

1. Nepali

2. Dogri

3. Bodo

4. Bhojpuri

Select the correct answer from thc code
given below :

Code :
(a) 1 and 2 (b) Only 4 »
(¢) 3 and 4 (d) Only 1

With reference to ‘acid and bases’, which of
the following statements is/are correct ?

[El¥E 1. Acidic solutions have pH more than 7.

Rerlond

104.

105.

2. Basic solutions have pH less than 7.

Select the correct answer from the code
given bclow :

CIZU-1 - g

Sedt g o e TEi 2/2 7

El"iEll Juref!
[Ell.".'ffs e
4. wgd
= fou 1 e @ HEl I R A i
F2:
(a) 132 (b) et 4
(c) 334 (d) ae 1
103. ‘Ir=d 3R R % wed o, frAfafaa @ 1

Code :

(a) Only 2 (b) Ncither 1 nor 2¢

(c) Bothland2 (d) Only 1

Consider the tenure of the following 104.
Presidents of India and arrange -them in
correct chronological order starting from
carliest to the last, 8

1. Neelam Sanjiva Reddy

2. K.R. Narayanan

3. A.P.J. Abdul Kalam

4. R. Venkataraman

Select the correct answer from thc code
given belaw : ot

Code :

(@) 1,4,2,3 (b) 4,1,3,2

(c) 4,1,2,3. (d) 1,4, :.3,:‘2

Four Buddhist Councils were Lhc‘ld at the 105.
following places. Arrange them in correct
chronological order and select the correct
answer from the code given below.

1. Vaishali Q

2. Rajagriha =)

8. Kundlalvana I Q\k

4, Pataliputra

Code : ¢

(a) 1,2,4,3: (h) 2,1, 3,4
(0)2143- d) 1,2,3,4

132

(c)2143

HF-T1/8 He wE 2/E 7

1. 37y faerma 7 9 sifaes pH &1 8rar 2 |
2. &t frea 1 pH 7 @ w9 g1 8 |
# few U % @ g IW I :

Fe:
(a) Had 2 (b) A7 1€ 2

(c) 13 2gH (d) a1

it % Freferfiga wegufaat 3 wrfee w ffmr
zﬁrﬁqms%wﬁqgﬁ@wﬁaﬁw%ﬁ?@

3 (b) 4,1, 3,2
2 3 (d) 1) 4’ 31 2

= g wfiferat Frefefaa T woam= gd o |
7% HE! HICHHATIEN 3hA H srafeya Hifore e
Hrar fu e e & T 3w g |

1. a!ZIIE“
22
e

> oW
§

(@ 1,2,4,3 (b) 2,1,3,4
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107.

5

108.

<

PR

’—"Match List — I with List - Il and choose the |

correct answer using the code given below

the lists.
List -1
(Nuclear Power
Plant)
A. Kudankulam
B. Kakrapar
C. Kaiga
D. Rawatbhata
Code :
A
(@) 4
(b) 2
(c) 2
(d) 4

NSO T
W~ Ww~=CA

= WwWw=Wwg

List - I
(State)
| }
Karnataka
Tamil Nadu
Rajasthan
Gujarat

)

Who among the following had won the

International Booker Prize in 2025 ?

1. Banu Mushtaq

2. Deepa Bhasthi

given below :
Code :

(a) 1 and 2
(c) 2and 3

3. Sanjay Chauhan :
Select the correct answer frgim the code

(b) Only3
(d) Only 1

Match List — I with List — II and choose the

correct answer using the code given below

the lists.
List -1

(Iron-ore Mines)

Gurumahisani
Bailadila
Neoamundi
Kudremukh

Code :
A
(@) 3
(b) 4
() 4

O owe>»

List - II
. (State)

Jharkhand
Karnataka
Odisha
Chhattisgarh

e B

£ ]

CIZU-1 - 23
106. Iﬁﬁ -1 T - Ha%;ﬁ?ﬁq-ﬁ@m
T -1 g - 11
A. BIHDTH 1, FieH e
B. MR 2. afterg
C. &m 3. TeEIH
D. e 4, TR
e &
A B C D
@4 2 1 3
b2 4 3 1
©2 4 1 3
d 4 2 3 1
107, Teteriaa o @ fFe 2025 7 sTaisda gont [
Sfiar & 2
1. T E
2. g weeft
3. T99 e[
1 few e e & W IR
H:
(a) 132 (b) ot 3
(c) 23 3 (d) ¥ 1
108, A - 1 - 113 gife it i g
e R T g2 SR w3 g |
Eg -1 T - 11
BN (s wm) @)
A. TenfeET 1. IREE
B. senfsen 2. FAH
C. IR 3. sifem
D. $3Hd 4, oYETE
T
A B C D
@3 4 2 1
b)4 3 1 2
)4 3 2 1
d3 4 1. 2

J—— o e s o . Y o o . p s s
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110.

s
o}E

111.

112.

RUE————— et
R
e e

Alliance’, which of the following,
statements is/are correct ?

1. Itis the first treaty based |~
Inter-governmental organisation
headquartered in India with"

38 member countries. ufd

2. World Solar Bank and One Sun
One World One Grid Initiative were
initiated under it.

Select the correct answer using the code
given below :
Code :

(a) Only 2

(c) Both 1 and 2

(b) Neither 1 nor 2
(d) Only 1.9

Joint special forces exercise ‘KHANJAR—XII'
was held in March 2025 between India and
which of the following Countries, ?

1. Russia Co

2. Turkmenistan

3. Kyrgyzstan

4. Mongolia

Select the correct answer from the code
given below : o

vty

Code :
(a) 2 and 3 (b) 3 and4:
(c) Only 3¢ (d) Only 1.

Which of the following Department
prepares the National Indicator-
Framework Progress Report relat_ed to
Sustainable Development Goals in
Uttar Pradesh ?

1. Department of Finance

2. Department of Education p.

3. Department of Planning
Select the correct answer from the code

given below : - Py
Code : (D
(a) 1and?2 (b) Only 37,
(c) 1and 3 (d) Only 1.
With reference to Isotopes’, which of the

following statements is/are co.rrcct ?

1. Atoms with identical atomic numbers
but different atomic mass numbers
are known as isotopes.

Protium, Deuterium and Tritium are
jsotopes of carbon. M
Select the correct answer fron—fx‘,.t}qe code

2.

given below :
Code :

(a) Only 2

(c) Both 1 and 2

(b) Neither 1 nor 2
fd) Only 1

ot gt s B o o o | e P o

109. With reference to ‘International Solar ! 109.-
i

110.

111.

112.

CIZU-1- 93

gt A T % s Pttt 4

H-1/8 FA T 2/E 7

1. 98 Tgen |iv Ny ST-HH T @
e TETer WA H 2 3N 36 38 Tem
TWE

0. frga |l 3% AR o @7 91 aeg T firg
gl gHh I T 2 |

% few U e & FR IR AT ;

T :

(a) ¥ 2 (b) Adr 1A E 2

(c) 13 2 g (d) e 1

ar 2025 # Gy BRI G@ AEAE R X
ﬂﬂaaﬂtﬁmﬁaﬁéﬁﬁﬁﬁﬂ%{?ﬁ%*ﬂamﬁfﬁ

fopan a7 -
1. = 2

) g B

3. ferfiferam
4. Hmfern
# Ru T Fe @ @ IW IR :

gzaﬁts (b) 33T 4

() Fad 3 (d) here 1

Frofeifad § § FH-a1/3 R Iw wSw § gad
e Tl & Gl TR G e T Rt
TR F@ R ?

1. fa= faum

2. farem fowm

3. Ao faum

= fo T e @ wd I gAT

k3
(b) e 3

(@) 132
() 133 (d) et 1

et (STEEIRY) % He #, Frfifea 4 4

-7/ FA T /T ?
1. g9 AT Teheg STERT TOTY] TEHE

EiE L :
I TS 1 TR Hgd @ |

2. Wifeaw, sefam ok ffeam #rl &
e g |

A= few MU Fe | A IW IR :

R :

(a) ad 2 (b) A 1T & 2

@ 13f2dd  CdEEeEls

-7 o
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R CIZU-1 - 23
=) List — I with List — Il and choose the | 11a.  wf @ os o T ST L e s T
3. Match : choose the | 113, _ -
1 correct answer using the code given below ;ﬁ:ﬁl SR -1 gfera iy 3 gt
the lists. faw T e =1 v = w3 g )
List - 1 List - 11 -1 -1 .
(Schedule) (Subject) il fﬁﬂ " omgm
A. 71 Schedule 1. Languages a?ﬁ'ﬂ‘f‘i' ferra El[":#
B. 8" Schedule 2. Disqualification A. 7 |1 I 1. W

i
|
|
|
i
!
@;@ on ground of ! B. 8 <ff argesh 2. GEEEH % IMUR W
Eﬁ;{t 3 defection i ST
Do Schedule 3. i ! .
oSl 3 puon Saemmd | coodiugu s v
D. 10th Schedule 4. Validation of § REREL il
certain Acts/ i D. 10 i arest 4, $o AfufE sk
Regulations : fafremi 1 aemm
Code : ' | HRe:
A B C D | A B C D
@3 1 2 4 | @3 1 2 4
(k)3 1 4 29 b3 1 4 2
2 3 4 1 ©2 3 4 1
@4 2 1 3 @4 2 1 3
114. Which of the following sites were obtained | 114. T=fead 3 @ -8 98 1816 ritet
by the British East India Company under iy & dga fefew S i st gro v it
the Treaty of Sugauli in 1816'? T$ off ?
1. Kathmandu 1. W
2. Shimla - o R
j Eamkl;et 3. T
. Nainit A
Select the correct answer from the code &
given below : ) :ﬁ%ﬁqm@ﬁ@m §i3'°-:
Code : - R
() 1and 2 (b) Only'3 and 4 : (a) 132 (b) eet 3 3t 4
(©) 2,3 and 4 (d) Onlyl ! (c) 2,334 (d) et 1
15, “Swavalambini”, a women entrepreneurship j 115. qETR W SIES] 3_€l|ﬁﬁl A Tt
programme for the North-East is Iau'?ched : frafaftag § § fora w3 g Bt P T R
by which of the following ministries )
1. Ministry of Skill Development and EEE 1. e faem iR Safia @
Entrepreneurship ‘ z TfeeT w@ o1t fem T
2. Ministry of Women and Child ] -;ff 2. s N
Development ‘ : 3. g&, Y R T ITH A
3. Ministry of Micro, Small and Medium :
Enterprises o d | Frar e e 2 & W I g ;
Select the correct answer from the code i T2
given below :
Code: : (a) 1372 (b) 3w 3
(@) 1and? (b) Only3™ : (c) 23 3 (d) ad 1
(9 2 and 3 (d Onlyl PNy SRS T s el AL

s —_
e

~———
e S e S
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116 Wthh of the followmg rivers fa]l mto thc

EH'EI

E] 2. Pennar

T

e

118.

119.

Arabian Sea ?
1. Periyar

3. Palar
Select the correct answer from the code
given below :

Code :
(a) Only 1 (b) Only 3¢
(c) 2and 3 (d) 1and2

Arrange the following electromagnetic
radiations in decreasing order of their
frequencies.

1. Gamma rays

2. Ultraviolet rays

3. Radio waves

4. X-rays
Select the correct answer from the code
given below :

I
\
|
]
i
|
|
|
|
{
|
|
|
|
]
|
!
i
i
|
|
\
I
|
|
|

Code :
(@ 1,4,3,2 b) 4,1,2,3
() 1,4,2,3 (d) 4,1,3,2

Given below are two statements, one is

labelled as Assertion (A) and the other as

Reason (R). =

Assertion (A) : Food security is necessary

even in surplus food production years.

Reason (R) : Starvation can still occur

due to unequal distribution and lack of

accessibility.

Select the correct answer from the code

given below :

Code : )

(a) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(b) (A) is false, but (R) is true

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are true’and (R) is the
correct explanation of (A) o

With reference to ‘Vice-President of India’,
which of the following statements is/are

correct ?

1. The Vice-President is the ex-officio
Chairman of the Rajyd Sabha.

2. Vice-President is a member of the
Rajya Sabha.

Select the correct answer from the code

given below :

o e o . . et s2e st

Code :
(a) Bothland 2 (b) Ne1ther 1 nor 2
(c) Only2 _(d) Only le

{ 117.

118.

S

110.

CIZU-1 - 23

6. frferfid # & wA-H T8 3 AR e 3

| 116.

1. gfEm -
& 5
3. 9
9 fou M e @ wd I G
Efeml (b) T 3
(c) 2 3R 3 (d) 132
frafifaa Rrpageeha fafem w1 37h
smgREl % ged A § Frafed i |
1. T femoi

2. gueTH ferel

3. et avt

4, X-fouot

= fou e & wE I AT

@ 1,4,3,2 (b) 4,1,2,3
(€ 1,4,2,3 d 4,1,3,2

= S wue feu e &, R & w1 31fireRuA (A)

qT gEL 1 FHR (R) FHET AT @ |

aifiRem (A) : @I grET, Ay @ e aui

T ot 3ravgs ? |

FHROT (R) : 3TEAM foaor 3 gim /989 & amet

B & RO @l anft oft 8wt ®

= feu e % @ wE W g

T4

(a) (A) 3 (R) 1 ¥ €, FFg (R), (A) B &
ST TE BT &

(b) (A) 7T B, g (R) &1t B

(c) (A) W& B, fohg (R) Tord R

(d) (A) 3R (R) g1 =& € 3k (R), (A) i T
T T @

R 6 IT-Tgaf’ & aed § FrefefRea §

HH-T1/H FoH Q B/% ?

1. 39-Trsgufer, U= /9T o we el B B |

2. Iu-Trezf T T Tew A R |

A9 fow e gz & wd I g .

FT

(@) .1 3R 2 A (b) A 138 2
(C)W2 (d) Faa 1
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=T en below are two Statements one is

120. 1ab6115d as Assertion (A) and the other as

Reasol’l (R) )

assertion (A) : India’s success is critical

for the global success of Sustainable

Development Goals. {0y

Reason (R) : India accounts for nearly

one-sixth of the total world population.

gelect the correct answer from the code

given below :

Code :

(a) Both (A) and (R) are true, but (R) is
not the correct explanatxon of (A)

(b) (A)is false, but (R) is true’

() (A) is true, but (R) is false -y

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A);y

$

|
!
!
|
|
|
|
|
i
!
|
|
|
!
|
i
|
|
|
|
|
|
]

121. Match List — I with List — II and select the
correct answer using the code given below
the lists.

List - I List - II
(Ruler) (Dynasty)
A. Mahendraverman 1. Rashtrakuta
First P
B. Kadungon 2. Pa@fg;n?;a
C. Amoghavarsha 3. Chola
First
D. Rajaraja First 4. Pandya
Code :
A B C D ,
@4 2 3 1
b2 4 1 3 1
€2 4 3 1 |
@4 2 1 3 1o, '
2. The Appiko Movement is associated with

which of the following Indian States ?
L. Uttarakhand

2. Uttar Pradesh

3. Kerala N

4. Karnataka .2

Select the correct answer from the code
given below :

(”-’ s

i
{
t
i
|
|
|
{
|
|
!
!
I
|
|
|

Code :
@) 1 and 2 (b) Only 4
.19 3and 4. (d) Only 1

e e g e S

L i T T T

: 120. :ﬂéammﬁwg ﬁﬂﬁﬁ@aﬁ

CIZU-1-23
E aTﬁ?IEF?H(A)
T AL Y HAT (R) gl TR |
AfreRer (A) : gaa frerra wedl i afvas qherd
& 70 s 6w wee 2 |
HRU(R) : WA H fova 6 Fo SEEA H AT
Dol feem framg @ 2 |
Fe:
() (A) 3R (R) 3 wdt &, T (R), (A)
T &l BT 8
(b) (A) Tera B, R (R) WEI R
(c) (A) T 2, foog (R) T B
(d) (a) 3 (R) G @ € ol (R), () FT TR

1 Tl

TS T B
121. T - 1 gt - 11§ gafea Hife aon giaai
% 9 fu T % 1 W@ G I gAT |
gl - 1 gt ~ 11
(STTEeR) (TreraEw) .
A. WESaHA Tom 1. TR ,‘El
B. %giH 2. weerm NS
C. JHigad ey 3. 914
D. TS JYA 4, urs
e
A B C D
@4 2 3 1
2 4 1 3
©g2 4 3 1
4 2 1 3
122, S dem frafafea # & R e
§ wafd 3/2 7
1. IWEE
E@ % mu&m
B 3.
4%—-&%
el fqu T %2 & W 3w gf
F
(a) 132 (b) ¥aet 4
(o) 334 (d)a:aal

Trary

O,
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which of the following ?
= 1. Ministry of Corporate Affairs
x:tT 2. Ministry of Rural Development
Er‘-‘f 3. Ministry of Finance }
Select the correct answer from the code
given below : :

Code :
(@) 1and 2 (b) Only 3
(c) 2and 3 (d) Only 1

124. Consider the following Electfon Reforms
in India and arrange them in correct
chronological order startmg from earliest
to the last.

1. Voters photo identity card

2. Electronic voting machine

3. Voter verifiable paper audit trail

4. NOTA N

Select the correct answer frdsm the code
given below : i

Code : 0
(a) 2, 1, 3’ 4 (b) 1: Qv 4, 3
(C) 1: 2’ 3140 (d) 2’ 1;4)3

125. Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R). 4
Assertion (A) : Evaporaticfri of sweat from
human skin dissipates body ‘heat.

Reason (R) : High humlthy on a hot day

increases discomfort. —

Select the correct answer from the code

given below :

Code :

(a) Both (A) and (R) are true ‘but (R) is
not the correct explanation of (A)

(b) (A) is false, but (R) is truee

(c) (A) is true, but (R) is false

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)

e e st e et .l o St 1 L 1 Pl b

CIZU-1 - 23

3. fom wEeE
#1 fow 0 e A I IFAT
He
(a) 132 (b) et 3
(c) 23M 3 (d) a1
124. s 7 FrerferRas g gurt W faem S
o1 3= Tl R @ SR it @k < W
FreTsHATER W 8 crafed Hif |
1. WEETl B Yge T E12C]
0. i difen we el
3. dre ffpuae d7T e ¢
4, A
%<
(@ 2,1,3,4 (b) 1,2,4,3
(€ 1,2,3,4 (d 2,1,4,3

125, 919 @ %o fog e g, i w6t afirea (4)
T G B T (R) HE TR
_ sifirReM (A) : HHE el F THIA T TSR
E%Waﬁnﬁaﬁwwam%.
BN o (R) : i fom 3 3= sk @ e g
STt @ |
i fer T % @ T SW ghT
®e: _
() (A) 3 (R) GFi wd &, T (R), (A) 7@
ST 8] T &
(b) (A) T B, hg (R) E& &
(c) (A) TE B, fFg (R) TTeta &
(d) (A) 3R (R) A = & 3R (R), (A) T T
STEAT HT &

138
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127.

@.?l@
i

28.

"I teflzped by which of the following ?

ational Police Co-operation has been

cieveCentral Bureau of Investlgatlon
' Research and Analysm ng
3. Intelligence Bureau
4. Enforcement Dlrectorate
gelect the correct answer from the code

given below :

Code :
(a) 2and 3 (b) 3 and 4
(c) Only 3 & (d) Oqu 1

Consider the following events and arrange | 127.
them in correct chronologlcal order.

1. Acquisition of Awadh by the British
2. Ilbert Bill Controversy i

! 3. Indigo Revolt
4. Second Anglo-Afghan War

Select the correct answer from the code
given below :

Code : o

@ 1, 3, 4,2 ¢ (b) 3,'2'1","?2, 4

() 3,1,4,2 (d) 1,! v2,

As per the One District One Product (ODOP) | 128.
scheme of Uttar Pradesh, MOOI]_] products
are associated with which of the following

districts ?
1. Amethi
2. Sultanpur
3. Sant Kabir Nagar
Select the correct answer from the code |
given below : - |
Code : REN :
(8) 1and 3 (b) Only 3¢ |

{0 2and 3 (d) 1and2 ‘i

]

- Which of the following Programmes/ ; 129.
Schemes is/are NOT included in meeting |
the objectives of National Education Policy :
2020 ? i
L. ULLAS D ! e 1
2. DIKSHA Holt
3. Bharat Nirman Prograrnme :
Select the correct answer from the code |
given below ‘ |
Code ; el :
@ 1 and 2 (b) Only 3 !
© 1ang 3 (@ Oonlyl

i T T 139

CIZU-1 - 23

e e e S e ot B 1B, s B e e P -t e e . e s

'TpoL anonhneportalfor I 126. WWW%WWW

“Uade’ Frafafae § @ feek g fawfa
frmmn R 2

1. i St =g opic]
3. ma@

4. yaaq frewme™
ﬁﬁﬂﬂq%ﬁaﬁwgﬁn:

Fe: 9

(a) 2 3R 3 "~ (b) 334

(c) et 3 (d) Fae 1
frerfafiaa wemat w Rem Fifs aur 3= 9@
FHITHAER 4 1 Saferd hif |

1. IS gRT 319y <1 Aftargw

2. e fore foamg

3. i fagie

4, fadta G-I g5

T

(a) 1,3,4,2 (b) 3,1,2,4

(c) 3,1,4,2 d) 1,3,2,4

ﬁﬁﬁwﬁm% ?

1. 3mdt

2. geaH

3. Fd FR TR
ﬁmmﬁ@wmﬁﬁﬂ:

%

(a) 133 (b) hadt 3

(c) 23 3 (d) 132
frfefad 3 § SH-91/3 FRwR/gem, T
fren <fifd 2020 % SewEl A qU F # wfre
WE?

2 'cﬁ&n

3. uRa fmio sl
ﬁﬁﬁﬂﬁﬁ@mgﬁq

a) 13#(2 (b)%aa:;

(c) 133 (d) ot 1

e s Bl B O D e R
’ et T
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130. Iron dome missile defence system belongs to : 130. a 2m frarsd @ yurreft frefafeaa & 4 ﬁ;q

131.

132.

e ————— T e - Tt - Tt T T B G e

which of the following countries ?
1. France

2. United States of America

3. Israel

Select the correct answer from the code
given below :

Code :
(a) 1and?2 Jb) Only 3
(c) 2and 3 (d) Only 1

Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).
Assertion (A)
are different.
Reason (R) : Length and thickness of
vocal cord is different in men and women.
Select the correct answer from the code
given below :

Code :

(a) Both (A) and (R) are true, but (R) is

not the correct explanation of (A)

(b) (A) is false, but (R) is true

()
d

(A) is true, but (R) is false

Both (A) and (R) are true and (R) is the
correct explanation of (A) .

With reference to ‘Human Development
Index’, which of the following statements
is/are correct ?

1. The UNDP published its ﬁrst Human
Development Report in 1990, which
had a Human Development Index.

5. The first team that developed the

Human Development Index was led by |

Mahbub-ul-Haq and S. Priesner.
Select the correct answer using the code

given below :
Code :

(a) Only 2

(c) Both 1 and 2

(b) Neither 1 nor 2
(d) Only 1

: Voices of men and women i

ot

|

|
|
i
i
i
i
i
i
i
[
I
!
i
i
i
]
i
i
i
i
]
i
i

i 131.

132.

[e]2x[=]

fE:

AR ?

1. %™

2. YA TS FHIH!
3. ToIEA

Y fo U e @ wE I AT
Fe:

(@) 13M 2
(c) 233

e
i

(b) a3
(d) T 1

2 3 e fw e &, o T w1 A (4)

amggiﬁm(fz)ﬁrw%|

aifrre (A) : TE S A hI T

T3 Bt & |

RO (R) : Gt SR Afwensd # S B A

g 3R Herd STenT-3TerT Bt 8 |

1 fu T Fe F T IW AT

%<

(a) (A) 3R (R) 31 T £, 5 (R), (A) FT &
=TT T81 T 8

(b) (A) T 3, feg (R) @& @

(0 (A) T& 2, fFg (R) 7ot B

(d) (A) 3R (R) §HT W&l & 31 (R), (A) HT FE
AT Al 2

‘wra ferehra g % Hed § e § &

HIE1/8 FoF wE /2 ?

1. g @. g @. J 1990 ¥ 319 gelt 7
Ty T werifara <6 oft fred aa faem
I o |

2. T4 fawm qEe fasiid S ar gl
&7 T AT NEgE-IA-5H I . W I
foram |

H2 fou e e & W 3w g

e

() hae 2 (b) AA 17 & 2

(c) 13 2gHl (d) et 1
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CIZU-1 - 23

V u:h ol the followmg pairs 1s/are NOT | 133, Frffan o E?FI—HT./‘I;QW Tt gafad @

',}3. otly matched ?
1 rrIflatxonal Voters - 25 January /27
" Day (India) , r | EiE 1 T g feam (wwd) - 25 e
Constitution - 27 January) | q.a:'-i,' _
% Day (India) : | Wk 2w fw () - 27 T
3.HumanRﬁ§“5 729 January 3. wraTeR g () - 29 T
Day (Wor.
‘lﬂ ct the correct answer from the code I féu T e @ wd 3 g
Sele %
@i“g given below : Fe:
Code :
(@) 1and 2 (b) Only 3 @ 132 (b) F 3
() 2and 3@ M)OMyUQ; (c) 23R 3 (d) %ae 1
3. Consider the following and arrang§ themin | 134, Frfirfa W feram ifor aen 3% w8 SHreRER
correct chronological order. . 0§ safRm Fif |
1. Food for work programme i 1. 1 ¥ Tea 3F FHH
2. Community Development Programme o By R o
3. Training for Rural Youth for Self .
. & TR Teftor et
Employment (TRYSEM) ) 3. W W % ferg TS 1 e
4. Drought Prone Area Programfnei (s )
Select the correct answer from the code 4. T FAUT & HTdshH
given below : P T fer Mg % ¥ T 3| U
Code : TN
(@ 4,231 W 2,4,1,3 (@) 4,2,3,1 (b) 2,4,1,3
(€ 2,4,3,1 (d) 4,2,1,3 (€ 2,4,3,1 (d) 4,2,1,3
5. Who among the following resigned from the | 135. Fefufaa § & frey shrrarar am BThTS |
Viceroy’s Executive Council, saddened by el BIR AR <R el afie ¥ e
the Jallianwala Bagh Massacre ?' efemar ?
E] 1. Chettur Sankaran Nair (O 1. =g WHH A
2 Ishwari Prasad 2. $yat yare .
3. Muhammad Shafi 3. a'gu;m QTcﬁ
4, .
Igbal Narain Gurtu X 4. AT T TG
Select the correct answer from the code A fu M = 3 Ud TR e .
8iven below : , ) '
Code ; £33
) 2 ang 3 (a) 233
(b) Only 4 (b) ?
© 3 ang 4 (c) 334
(ﬂomyl (d) ¥ 1

‘-..__ s e e < -l
e

e e e

141]
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TS | TN e a

=

JITLE

which of the Totlowing statements 1o/ore
stateme i
i g statements is/are
1. It was constructed by Rail Vikas
Nigam Limited, which is a ‘Navratna’
public sector unit under the Ministry
of Railways.
2. Itis India’s first vertical lift railway
sea bridge.
Select the correct answer from the code
given below :
Code :
(a) Only 2 (b) Neither 1 nor 2
(c) Bothland 2 (d) Only 1
Given below are two statements, one is
labelled as Assertion (A) and the other as
Reason (R).
Assertion (A) : Consumers carl bargain
below Maximum Retail Price (MRP).
Reason (R) : MRP is a price a seller must
charge from the buyer.
Select the correct answer from the code
given below :
Code :
(a) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(b) (A) is false, but (R) is true
(c) (A)is true, but (R) is false *
(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)
Suez canal connects which of the following ?
1. Atlantic Ocean
2. Red Sea
3. Mediterranean Sea
4. Indian Ocean P
Select the correct answer from the code
given below : L
Code :
(a) 1and 3
(c) 2 and 3w
with reference to Lifestyle for the

Environment (LiFE), which of the
following statements is/are correct ?

137.

138.

(b) 3 and 4
(d) 1and?2

139.

CIZU-1- 23

| 136, 7 v f v # fefdfEd § 3 FE-mn

o Té 22 7

AR @ T 2
£ )
(a) FTA 2 (b) A 1972
(c) 13 2aH (d) FF 1
157, 4 @ e e o 2, o 5 0 R A ()
W{PﬁEﬁTW(R]Wﬂ?ﬂ%I
yr[E At (A) :mmrmﬁfmu Tz e
""?ji (qu.m.tﬂ.)@wmnmmamgaﬁm_
[elf W(R):@.W.Uﬁ.aarga%mﬁmm
$pa1 & e & @ |
$3 fou 0 e & A I AT

Fe

(@) (A) 3 (R) it 71 2, 7R (R), (A) 1 7
T TE T 2

(b) (A) T 2, g (R) L&

(©) (A) T 2, g (R) e &

(d) (A) 3 (R) ST &1 & 3 (R), (A) T TE
ST Ll 2

mmﬁuﬁﬁaﬁﬁﬁ%:ﬁ?ﬁ% ?

1. 3TAifes TEHEMT

2. e AR

3. YATI TR

4. fg= memETm

138.

E
(a) 133 (b) 3 3N 4
(c) 233 d) 132

139. aﬁmﬁmﬁa@m" (wgq;)—;gg'gﬁﬁ
St § & FH-E/a B T 2/ 7
1. T8 5@ 2022 # @t foran mn |

. It was launched in June 2022. o . ]
é. }ts idea was proposed at the COP 25 in E' l 2. 3E% fa=m H afgg, T o #7q 25 |
Madrid, Spain. L) [=] wearfaa fopar man an |

Select the correct answer from the code 2 fr LT B T I _f[ﬁﬂ 1

given below : 3 .

Code : R N

(a) Only 2 (b) Neither 1 nor 2 (a) e 2 b) FA1T& 2

(c) Both 1and 2 (d) Only 1 (c) 13 2TH (d) o 1
] 142
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[’ th reference to Worid Bank and

v matloﬂal Monetary Fund, which of the

i
i

e
| gﬁomn statements is/are correct ? :
‘ . The World Bank and Internahonali
i
i
i

| Monetary Fund were set up-together

| and are popularly known as Bretton
Wood Twins.

5. Headquarters of Intematlonal Monetary

Fund and World Bank are located

at Washington D.C. and New Yorki

respectively.
select the correct answer from the code
given below :
Code : A0
(2) Only 2 (b) Neither:l nor 2
() Bothland 2 (d) Only 11,

11, With reference to the Joint Sitﬁné of
Parliament’, which of the following
statements is/are correct ?

CIZU-1-23

e me e e —

140. v % o sfeed o e L
ﬁwi%«ﬁ‘@aﬁﬁﬁq-m/amaé’f%/%?

1. fra % ofi sidsfa T e A FE
ESE o o ot o wita w9 8 Hed 38
R e R R

2. Sl a3 e o 1 gE

SHOT: AT 9. 3R =g § R R

H2 fou o gz @ w W g

w2

(a) et 2 (b) a1 1982
(0 13R23d  ((d) Fae 1

141. ‘G ) vgE d5% % g A fFefafaa 3 @
HI-F1/8 FoF wE 2/E 7

1. Article 109 of the Constitution of 1. 9Rd % gfaur 1 37905 109 gHe
India provides for the Joint S1ttmg of | [E[E 1
Zechv!  TIT 4o 1 NEUM HT 2 |
Parliament. Ell‘:‘f
2. A Joint Sitting of Parharnent may & 0. dfyur deem fades #i Tiid F3 & e
be called to pass a Constltutlon ) T S 5
Amendment Bill. e il HIH e 1 2l
Select the correct answer from the code H fow e e @ wE S AT
given below : . ;
Code : kS :
(a) Both 1and 2  (b) Neither 1 nor 2 (a) 132 (b) ?Eﬁ 1782
(c) Only 2 (of Only 1 (c) e 2 (d) a1
M2, Match List — I with List — Il and select the | 142. T& -1 % el - 11 & gafer shifsre o gt
correct answer from the code given below Hi feu e g2 | = IW g |
W the lists. i | -1 -1
% B % List - I List - II ~ : (T fawa @83) (vl =T 8=)
(Sustainable (Area of Goal) | A. @& 1 1. =8 9 3
:ev(;ah;fment Goals) | t and : T=<adl
. Goal 1 1. Clean water
sanitation : B. WY 3 2. ot Rren .
B. Goal 3 . Quahty educaﬂon : C. 9T 4 3. Tl'ﬁiﬁ % H‘ﬁ YT &6l
C. Goal 4 3. To end poverty in | TcH B
all forms -, | D. @& 6 4. IO W 3R
D. Goal 6 4. Good health and | FHeA]
well-being } e
Code ; / |
K , A B C D
B C D |
W4 4 . ‘ @4 3 1 2
M3 s 5 | 3 4 2 1
M3 4 z a @3 4 1 2
Q) 4 : | @4. 3 2 1
\\\\\,~ 3 2 1 o -...‘-'_j___'_,_____,._____,_._'__“_ vz
. ==t 1431 S
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143.

With reference to ‘Operation Olivia’, which | 143.

|

Clzu. _,,

- N
«

: ST /& FUA WA 2/ 7
ofthe [ollowing statements fs/are correct ? | WL D o o et g
1. It is an initiative of Indian coast i 1. W a2 11 H S
Guards to protect Olive Ridley turtles | e % fog % A KT
along the coast of Odisha. ) I 0. ATIA snfafaan 3 < ufgy 5 Bt
2. Operation Olivia is carried out during : e ST @ S S free Fgai 5
the month of August which is the i St 9T 1 UG BT R |
nesting time of Olive Ridley turtles. i 3w 3R g -
Select the correct answer from the code ! = fau T R :
given below : i : .
o e S N UL L SULE
a) Only 2« (b) Neither 1 nor 2 (d) 1
(c) Both1and2 (d) Only 1 2 (c) 132 < i
? frffga # & FA-91/8 gl T 3
144. Which of the following pairs is/are NOT 3 144. & i (1) aefay
correctly matched ? L R (AR frerel)
EiE (Biosphere (State) i E.’#;Er] 1. TR - TR
ﬁ? ! Reserve) - i ’E’Té ’ _ 3y
[El{#F 1. Nokrek — Manipur ; B o A
2. Manas - Ass:lm 3. TEHETS I Rl
3. Agasthyamalai — Kerala o .
Select the correct answer from the code = fgu e E ¥ Tl I E[m :
given below : %
T and 2 (b) Only 3 (@) 132 (b) F1 3
a an y
(¢) 2 and 3 (d) Only 1 (c) 23R 3 (d) et 1
145. With reference to Global Environment 145. fvaes gateror glaen F wef # Frfefea 43
Facility, which of the following statements HH-91/4 FUT GET 8/2 ?
is/are correct ? C .
1. It was established in 1991. 1. sahl ial:{r\:” 1\991:\1 §§ ot O
2. Only the developed countries are 2. Faa fawfaa <91 & 35 edr (S 8 |
donors to it. .
Select the correct answer from the code e feu q & H Tl SW §i5lQ :
given below : s He:
Code : e N o
(a) Only 2 (b) Neither Imor2 | () et 2 (b) T4 1952
(c) Bothland2 (d) Only1 - § (c) 13 23t (d) whaet 1
b i
146, (Given below are oo piaemente, one o | 146, A3 2 o o e 2, e o o v
igbee as Asse erasg W@iﬁm(mmwél
eason (R). ) _ & i ; 3
Assertion (A) : Directive Principles are | __ (A) : ITYF Arhaite Tu s
important for economic, social and political | EI;_}LE IR, w31t Torifs S T &g =
functions in a Modern tI)Democratic State. | !IE"W? fagra TRt § |
Reason (R) : The core objectives of Directive | FHRUT . -
Principles is to establish economic and | (R) : SUEE 3R HTFﬂﬁ'IE Wﬁ% |
social democracy. 4 F T 6 & e frgrat =1 9ot e
Select the correct answer from thga code : EiEC] ﬁ:q By E T e I ﬂﬁ‘{ .
given below : Mo i Fe:
Code : | . . @
(a) Both (A) and (R) are true, but (R) is () (A) 3R (R) GFif wdt &, frg (R), (AP
not the correct explanation of (A) AT 8] HLar g
(b) (A) is false, but (R) is true (b) (A) TreTq ,
(c) (A) is true, but (R) is false © (A) wd § |§l$i§ (R) §&l %
(d) Both (A) and (R) are true and (R) is the d ’ ﬁb_'sl, (R) TTeTd fd
correct explanation of (A) ) (A) 3R (R) g1 &&1 & afit (R), (A)
e I SATET Fiar 8
lagqy T
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# CIZU-1-23
’7 W among the foIlowmg mtroduced the ' 147 ﬁﬂ%é-ﬂga ;ﬁ ?T\'-FH%H 'gm @F:'I Ijtaﬂf; HFW ?ﬁ
1 Oncept of entitlements in food security ? IO TR T 2 7
M. S. Swaminathan . - ’
i 1. W, g, @i i
2_ Atul Pranay | 5 [=7%[=]
3. Samali Srikant » - A I 7 .pf
4 Amartya Sen A i 3. gurel *fipra e
Select the correct answer from the code : 4. Imcd &
-iven below « 19 fog 0 o @ R 3w P
Code : : T
(a) 1and 2 (b) Only 4 (a) 132 (b) et 4
() 3and 4 (d) Only 1¢ , (c) 33 4 (d) a1
. l & 2
148, With reference to Jnanpith Award, which of | 148. TS R % wigd # Freferfiaa & 4
the following statements is/are correct ? i FH-T1 /,3, FUT TE 2 /g 2
1. The 581 Jnanpith Award was « P
conferred upon Sanskrit Scholar 1. 58 af FFIS JEhR wepa forgm Jmge
Jagadguru Rambhadracharya Ji. g St yee fRar T |
2. ThgslstJnanplth Award’ was given in 2. TEeT TS YT 1965 # fean T A |
19 1 :
Select the correct answer from the code Al fow T e @ T I AT ;
g1vedn below : Fe:
Code :
(@) Only 2 (b) Neither 1 nor 2 (@) e 2 U A1 2
() Both1and2 (d) Only1 (c) 13 2 gmi (d) a1
149. Arrange the following in chronological order | 149. Freiftifiaa i T T 3 HremhATIaR 54 &
of their rule and select the correct answer =aferd Hifve aa e fu T w5 | Td W
from the code given below. g |
WEE 1. Bajirao I o 1. 9IRS 1
E]feé 2. Balaji Bajirao 2. et 9N
3. Balaji Vishwanath 3. sremit favay
4. Madhav Rao I 4. HIYd {9 1
Code : - He:
@ 1,3,2, 4 (b) 3, " i 4,2 1 (@ 1,3,2,4 (b) 3,1,4,2
(© 3,1,2,4, d) 1, 3 4 2 (€ 31,24 d 1,3,4,2
150 Which of the following pairs is / are correctly i 150. Treferfad A & HH-a1/3 IW v gifera 8/2 7
matched ? | (Ye7a HUET) (FeaTera)
(Railway Zone) (Headquarter) | Y
L. Northern Railway - . New Delhi | 1. IW - 3 feesh
2. North Eastern - Gorakhpur | G 2. SWEf el - v
Railwa; ‘ | AEel
3. South }éastem - CuttaCk 1 mrﬁé 3. Erm t@. i_ﬁa - H<h
Railway i 2 fou e g2 @ W s gf
Select the correct answer from the code | . % '
given below : : Re:
{CJ)"’S] e i (@) $O 132 (b) Fuwt 3
nlyland2 | y ! Faa
) Only2and 3  (d) Only b ; ) F23R3  (d) ¥t 1
‘---__“_“»n_b_,_,__--~-—-~—-!—'Z§!‘ ----------------------------- -
;::_;,’J,," [ R TR .
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